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TNPSC GROUP I – 2020 
MODEL EXAMINATION - iI 

 
1. Match the following: 

a. Adam Smith    1. Welfare definition 
b.Alfred Marshall    2. Monopolistic competition 
c. JR Hicks and RGD Allen   3. Wealth definition 
d. E. H. Chamberlin    4. Indifference curve 
 A B C D 
a.  1 2 3 4 
b.  4 3 3 1 
c.  3 1 4 2 
d.  2 4 1 3 
a. Mlk; ];kpj;      1. ey ,yf;fzk;   
b. My;gpul;khh;~y;     2. Kw;Whpik Nghl;b 
c. JR `pf;]; kw;Wk; RGD Myd;   3. nry;t ,yf;fzk; 
d. E. H.Nrk;gh;ypd;       4. rkNehf;F tisNfhL 
 A B C D 
a.  1 2 3 4 
b.  4 3 3 1 
c.  3 1 4 2 
d. 2 4 1 3 

 
2. Which one of the policy is followed by the government during inflation? 

a. Surplus budget policy  b. Deficit budget policy  
c. compensatory fiscal policy   d. Balanced budget policy  
fPo;fz;ltw;wpy; gztPf;f fhyj;jpy; murhy; vt;tifahd epjpf; nfhs;if gpd;gw;wg;gLfpwJ? 
a. cghp epjpepiy nfhs;if  b. gw;whf;Fiw epjpepiy nfhs;if 
c. rhpnra;Ak; epjpepiy nfhs;if d.rhprk epjpepiy nfhs;if 

 
3. The main vision of the XI Five Year Health Plan was  

a. Health for rural area people  b. Health for all the people 
c. Health for below poverty people  d. Health for poor people  
gjpNdhuhtJ Ie;jhz;L Rfhjhuj; jpl;lj;jpd; Kf;fpa njhiyNehf;Fg; ghh;it vd;gJ 
a. fpuhk kf;fs; Rfhjhuk;   
b. midj;J kf;fspd; Rfhjhuk; 
c. tWik Nfhl;bw;F fPNo cs;s kf;fspd; Rfhjhuk; 
d. Vio kf;fspd; Rfhjhuk; 
 

4. South Indian Liberal Federation was formed in ______ 
a. November 10, 1916   b. November 20, 1916 
c. November 30, 1916   d. November 10, 1917 
njd;dpe;jpa ey chpikr; rq;fk; vg;NghJ cUthf;fg;gl;lJ? 
a. etk;gh; 10> 1916   b. etk;gh; 20> 1916 
c. etk;gh; 30> 1916   d. etk;gh; 10> 1917 
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5. Consider the following statements. 
I. Dravidian Movement emerged as a defence of Non – Brahmins 
II. Madras Non – Brahmin Association was founded in 1912 
III. Madras United league was founded in 1916 
IV. Madras United league was renamed as Madras Dravidian Association  
Choose the correct option. 
a. I and III are correct    b. I and IV are correct 
c. I, II and III are correct   d. All are correct 
gpd;tUk; $w;Wfis Ma;f. 
I. jpuhtpl ,af;fkhdJ gpuhkzh; my;yhNjhh;f;F ghJfhg;G muzhf cUthdJ. 
II. nkl;uh]; gpuhkzuy;yhNjhh; rq;fk; 1912 ,y; cUthf;fg;gl;lJ. 
III. nrd;id $l;likg;Gf; FO 1916 ,y; cUthf;fg;gl;lJ. 
IV. nrd;id $l;likg;Gf; FOthdJ nkl;uh]; jpuhtplh; rq;fk; vd ngau; khw;wk; nra;ag;gl;lJ. 
rhpahd $w;Wfis Njh;e;njL. 
a. I, III rhp  b. I, IV rhp  c. I, II, III rhp  d. midj;Jk; rhp 

 
6. Choose the incorrect pair 

a. A. Subburayulu Reddiar, 1920 – 1921 b. Panaganti Ramarayanigar,  1921 – 1926 
c. B. Munusamy Naidu, 1930 -1932  d. Ramakrishna Ranga Rao, 1932 – 1935 
jtwhd ,iziaf; fhz;f. 
a. A. Rg;guhaY nul;bahh;> 1920 – 1921 b. gdfz;b ,uhkuhaepfh;> 1921 – 1926 
c. B. KDrhkp ehapL> 1930 – 1932  d. ,uhkf;fpU~;z uq;fh uht;> 1932 – 1935 

 
7. Match the following 

Newspaper/journal  Year 
A. Kudi Arasu  - 1. 1935 
B. Revolt  - 2.1934 
C. Pagutharivu - 3. 1928 
D. Viduthalai  - 4. 1925 
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 4 3 2 1 
d. 4 1 2 3 
nghUj;Jf 
nra;jpj;jhs; / gj;jphpf;if  Mz;L 
A. FbauR    1. 1935 
B. upNthy;l;    2. 1934 
C. gFj;jwpT    3. 1928 
D. tpLjiy    4. 1925 
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 4 3 2 1 
d. 4 1 2 3 
 

8. Who is the First elected member of Madras legislative council from depressed class? 
a. Rettamalai Srinivasan  b. Iyotheedasa Pandithar 
c. M. C. Raja    d. Muthulakshmi Ammaiyar 
nrd;id khfhzj;jpy; xLf;fg;gl;l tFg;gpypUe;J rl;lNkyitf;F Njh;e;njLf;fg;gl;l Kjy; cWg;gpdh; 
ahh;? 
a. ,ul;ilkiy rPdpthrd;  b. mNahj;jpjhr gz;bjh; 
c. M.C. uh[h    d. Kj;Jyl;Rkp mk;ikahh; 
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9. Consider the following statements 
1. South India’s Jhansi Rani by Gandhiji – Anjalai Ammal 
2. “Kodumudi Kokilam” by C. N. Annadurai – K.P. sundarambal 
3. Anniebesant of Tamilnadu by Annadurai – Moovalur Ramamirdham Ammaiyar 
a. 1, 3 correct  b. 2, 3 correct  c. 1 only correct d. All of these 
gpd;tUk; $w;Wfis Ma;f 
1. fhe;jpabfshy; njd;dpe;jpahtpd; [hd;rp uhzp vd miof;fg;gl;lth; - mQ;riy mk;khs; 
2. C.N. mz;zhJiuahy; “nfhLKb Nfhfpyk;” vd;wiof;fg;gl;lth; - K.P. Re;juhk;ghs; 
3. jkpo;ehl;bd; md;dpngrd;l; vd mz;zhJiuahy; miof;fg;gl;lth; - %tY}h; ,uhkhkph;jk; 

mk;ikahh; 
a. 1> 3 rhp  b. 2> 3 rhp  c. 1 kl;Lk; rhp  d. midj;Jk; rhp 

 
10. In post-Independence period, first women Cabinet Minister of Madras Presidency was ______ 

a. Muthulakshmi Reddy  b. Sathyavani Muthu 
c. Rukmani Lakshmipathi  d. Supriya Cheriyan 
Rje;jpu ,e;jpahtpy; nrd;id khfhzj;jpd; Kjy; ngz; fhgpdl; mikr;rh; ahh;? 
a. Kj;Jyl;Rkp nul;b   b. rj;jpathzp Kj;J 
c. Uf;kzp ,yl;Rkpgjp   d. Rg;hpah nrupad; 

 
11. Chemical formula of rust is ________.  

a. FeO. × H2O   b. FeO4. × H2O  c. Fe2O3. × H2O  d. FeO  
JUtpd; tha;g;ghL _____ 
a. FeO. × H2O   b. FeO4. × H2O  c. Fe2O3. × H2O  d. FeO  

  
12. What is the name of cork cambium? 

a. Histogen  b. Tyloses  c. Morphins d. Phellogen 
jf;if Nfk;gpaj;jpd; kW ngau; vd;d? 
a. `p];Nlh[d;  b. ilNyh]];  c. khh;gPd;fs; d. ngy;Nyh[d; 

 
13. The pH of an aqueous solution is Zero. The solution is  

a. Slightly acidic     b. Strongly acidic  
c. Neutral      d. Basic  
xU ePhpa fiurypd; pH kjpg;G G+[;[pak;> vdpy; me;j fiury;  
a. rpwpjsT mkpyj;jd;ik nfhz;lJ  b. mjpf mkpyj;jd;ik nfhz;lJ 
c. eLepiyj; jd;ik nfhz;lJ   d. fhuj; jd;ik nfhz;lJ  

 
14. SiO2 is 

 a. an acidic oxide   b. a basic oxide  
 c. a neutral oxide   d. an amphoteric oxide 

SiO2 vd;gJ  
a. xU mkpy Mf;irL  b. xU fhu Mf;irL  
c. xU eLepiy Mf;irL  d. xU <hpay;G Mf;irL  
 

15. Match the following. 
A. Octane rating  1. Diesel 
B. Cetane rating  2. Methane 
C. Simplest hydrocarbon 3. Petrol 
D. Peat    4. Brown in colour 
E. Lignite    5. First stage coal   
 A B C D E 
a. 3 1 5 2 4 
b. 1 2 3 4 5 
c. 3 1 2 5 4 
d. 4 5 3 2 1 



 

4 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

nghUj;Jf:  
A. Mf;Nld; kjpg;gPL   1. Bry;  
B. rPl;Nld; kjpg;gPL   2. kPj;Njd;  
C. vspa i`l;Nuhfhu;gd;  3. ngl;Nuhy;  
D. gPl;    4. gOg;gepwk; nfhz;lJ  
E. ypf;idl;    5. Kjy; epiy epyf;fup 
 A B C D E 
a. 3 1 5 2 4 
b. 1 2 3 4 5 
c. 3 1 2 5 4 
d. 4 5 3 2 1 

 
16. Which one of the following Acts Reserved Seats for Woman in legislature? 

a. The Government of India act 1858 
b. The Indian Councils act 1909 
c. The Government of India act 1919 
d. The Government of India act 1935 
gpd;tUk; rl;lq;fspy; ve;j rl;lk; ngz;fSf;F rl;lkd;wj;jpy; ,lxJf;fPL toq;fpaJ? 
a. ,e;jpa murhq;f rl;lk; 1858 
b. ,e;jpa fTd;rpy;fs; rl;lk; 1909 
c. ,e;jpa murhq;f rl;lk; 1919 
d. ,e;jpa murhq;f rl;lk; 1935 

 
17. Match the following 

Type   Enrolment form    
A. Form 6  1. For corrections entered in electoral Roll 
B. Form 6A  2. For Enrolment as new voter and change of  

address from one constituency to another 
C. Form 7  3. For Registration of NRI Voters 
D. Form 8  4. For Objecting inclusion or seeking deletion of  

name in electoral Roll 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 3 4 
d.  2 3 4 1 
nghUj;Jf 
tif   gbtq;fs; 
A. gbtk; 6  1. thf;fhsh; gl;baypy; jpUj;jk; nra;tjw;F 
B. gbtk; 6A  2. Gjpa thf;fhsiu Nrh;f;f kw;Wk; xU njhFjpapy; ,Ue;J 

kw;nwhU njhFjpf;F Kfthp khw;wk; nra;a 
C. gbtk; 7  3. NRI thf;fhsh;fs; gjptpw;F 
D. gbtk; 8  4. thf;fhsh; gl;baypy; ngah; Nrh;g;gij my;yJ  

ePf;Ftjw;F vjpuhf 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 3 4 
d.  2 3 4 1 

 
18. Which of the following cases deals with the Fundamental Duties? 

a. Kesavanandha Bharathi Case  b. Ramsharan Case 
c. Golaknath Case    d. None of these 
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fPo;f;fz;ltw;wpy; mbg;gil flikfNshL njhlh;Gila tof;F  
a. Nfrthde;j ghujp tof;F   b. uhk;ruz; tof;F 
c. Nfhyhf;ehj; tof;F        d. ,it VJkpy;iy 

 
19. Match the following: 

A. T.M.A. Pai vs State of Karnataka (2003)  1. Protection against arrest    
B. Visakha vs State of Rajasthan (1997)  2. Right to freedom of Religion 
C. Gopalan vs State of Madras (1950)   3. Protection of Life and Liberty 
D. Gopala Krishnan Nair vs State of Kerala ( 2005) 4. Right of minorities to Administer educational  

Institutions 
 A B C D 
a. 4 3 1 2  
b. 3 2 1 4  
c. 4 1 2 3  
d. 1 4 3 2  
nghUj;Jf:  
a. T.M.A. gha; vs fh;ehlf muR (2003)   1. ifJf;F vjpuhd ghJfhg;G  
b. tprhfh vs uh[];jhd; muR (1997) 2. kj Rje;jpuj;jpw;fhd chpik  
c. Nfhghyd; VS nkl;uh]; muR (1950)  3.tho;T kw;Wk; Rje;jpu ghJfhg;G 
d. Nfhghy fpU~;zd; ehah; vs    4. rpWghd;ikapdh; fy;tp epWtdq;fs; 
  Nfus muR (2005)      

A B C D 
a. 4 3 1 2  
b. 3 2 1 4  
c. 4 1 2 3  
d. 1 4 3 2 

 
20. Match the following 

Nobel Prizes   Field 
A. Andrea Ghez  1. Physics 
B. Robert Wilson  2. Economics 
C. Louise Gluck  3. Literature 
D. Jennifer Doudna  4. Chemistry 

   A  B C D 
 a.  4 3 2 1 
 b.  1 2 3 4 
 c.  1 4 3 2 
 d.  4 1 2 3 

nghUj;Jf 
Nehgy; ghpR   Jiw 
A. Md;hpah nf];  1. ,aw;gpay; 
B. ,uhgh;l; tpy;rd;  2. nghUshjhuk; 
C. Y}ap]; FSf;  3. ,yf;fpak; 
D. n[d;dp/gh; nlsl;dh 4. Ntjpay; 

  A  B C D 
 a.  4 3 2 1 
 b.  1 2 3 4 
 c.  1 4 3 2 
 d.  4 1 2 3 
 
21. How many village panchayats are there in Tamil Nadu? 

a. 12000  b. 11104  c. 12385  d. 12620  
jkpo;ehl;by; cs;s Cuhl;rpfspd; vz;zpf;if  
 a. 12000  b. 11104  c. 12385  d. 12620 
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22. World Breast Feeding Week is on  
a. July 1st week  b. August 1st week 
c. September 1st week  d. June 1st week 
cyf jha; ghY}l;Lk; thuk; _______ 
a. [{iy Kjy; thuk;  b. Mf];l; Kjy; thuk; 
c. nrg;lk;gh; Kjy; thuk; d. [{d; Kjy; thuk; 

 
23. Find out the correct statements  

1. The voter population in Tamilnadu crossed 6.10 crore  
2. Women voters continuing to exceed men for the consecutive 6th year 
3. Out of 6,10,44,358 voters 3,09,25,603 are women and 3,01,12,370 are men  
4. There are 6385 third gender voters in the state 
5. Tamilnadu fiscal deficit stood at Rs.260534 crore in July 
a. 1, 2, 3, 4  b. 2, 3, 4, 5  c. 1, 3, 4, 5   d. All are correct 
rhpahd $w;Wfis fz;lwpf 
1. jkpo;ehl;by; thf;fspf;Fk; kf;fs;njhif 6.10 Nfhbiaj; jhz;baJ 
2. njhlh;e;J 6 Mz;Lfshf Mz;fistpl ngz; thf;fhsh;fs; mjpfkhf cs;sdh; 
3. 6>10>44>358 thf;fhsh;fspy; 3>09>25>603 Ngh; ngz;fshfTk; 3>01>12>370 Ngh; Mz;fshfTk; cs;sdh;. 
4. khepyj;jpy; 6385 %d;whk; ghypd thf;fhsh;fs; cs;sdh;. 
5. jkpo;ehl;bd; epjpg;gw;whf;Fiw [{iy khjj;jpy; &.260534 Nfhbahf ,Ue;jJ 
a. 1, 2, 3, 4  b. 2, 3, 4, 5  c. 1, 3, 4, 5   d. ,it midj;Jk; 
 

24. Match the following 
A. Justice Aruna Jagadeesan Committee 1. Sterlite violence 
B. Justice Arumugasamy Committee  2. Inquiry into the Death of Jayalalitha 
C. Justice Kalaiarasan Committee  3. Reservation for Government Students in Medical  

Colleges 
D. Justice Kulasekaran Committee  4. To survey Caste wise data of the people of the state 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 4 2 1 
d. 3 1 2 4 
nghUj;Jf 
A. ePjpaurh; mUzh [fjPrd; FO  1. ];nlh;iyl; fytuk; 
B. ePjpaurh; MWKfrhkp FO   2. n[ayypjh kuzk; Fwpj;j tprhuiz 
C. ePjpaurh; fiyaurd; FO   3. kUj;Jtf;fy;Y}hpapy; muRg;gs;sp khzth;fSf;fhd  

xJf;fPL 
D. ePjpaurh; FyNrfud; FO   4. khepy kf;fs;njhifia [hjpthhpahf fzf;nfLj;jy; 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 3 4 2 1 
d. 3 1 2 4 

 
25. Which among the following is the cheapest type of irrigation? 

a. Canal irrigation  b. Well irrigation 
c. Tank irrigation  d. Sprinkler irrigation 
gpd;tUtdtw;Ws; kypthd ePh;ghrd Kiw vJ? 
a. fhy;tha; ePh;ghrdk;  b. fpzw;W ePh;ghrdk; 
c. Vhp ePh;ghrdk;  d. njspg;G ePh;ghrdk; 
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26. Match the following 
Sources of irrigation  Available Percentage 
A. Well    1. 11% 
B. Canals    2. 24% 
C. Tanks    3. 62% 
D. Other Sources   4. 3% 
 A B C D 
a. 1 3 2 4 
b. 4 3 1 2 
c. 3 2 4 1 
d. 1 2 3 4 
nghUj;Jf 
A. fpzW    1. 11% 
B. fhy;tha;    2. 24% 
C. Vhp ePh;    3. 62% 
D. kw;wit    4. 3% 
 A B C D 
a. 1 3 2 4 
b. 4 3 1 2 
c. 3 2 4 1 
d. 1 2 3 4 
 

27. Consider the following statements 
1. Tropical evergreen forest is seen in the areas having rainfall of less than 20 cm (Annual Average) 
2. Tropical evergreen forest is seen in the areas having annual average temperature of more than 

22°C 
Which among the following is correct? 
a. 1 only  b. 2 only  c. both   d. none 
gpd;tUtdtw;iw Muha;f 
1. ntg;gkz;ly gRik khwhf; fhLfs; 200 nr.kP f;Fk; Fiwthf Mz;bd; ruhrhp kioasit 

ngWk; gFjpfspy; fhzg;gLfpd;wd. 
2. ntg;gkz;ly gRik khwhf; fhLfs; 20°C f;fk; mjpfkhf ntg;gepiyiaf; nfhz;Ls;s 

gFjpfspy; fhzg;gLfpd;wd. 
rhpahd $w;Wfis fz;lwpf 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. ,uz;Lk;  d. vJTkpy;iy 
 

28. Find out the incorrect pair 
a. Babul  - Eastern Himalayan Forest 
b. Casurina  - Coastal Forest 
c. Teak   - Tropical Deciduous Forest 
d. Mahogany  - Tropical Evergreen Forest 
jtwhd ,iziaf; fz;Lgpb 
a. ghGy;  - fpof;F ,kakiy fhLfs; 
b. fRhpdh  - flw;fiu fhLfs; 
c. Njf;F  - ntg;gkz;ly ,iyAjph; fhLfs; 
d. kNfhfdp  - ntg;gkz;ly gRik khwh fhLfs; 
 

29. In Medieval India, Mansabdari system was introduced mainly for 
a. Making recruitment to the army 
b. Facilitating revenue collection 
c. Ensuring religious harmony 
d. Effective clean administration 
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,ilf;fhy ,e;jpahtpy; kd;rg;jhhp Kiwia vjw;fhf mwpKfg;gLj;jpdh;. 
a. ,uhZtj;jpw;F Ms; Nrh;g;gjw;fhf  
b. thp t#ypg;gjw;fhf 
c. rka ey;ypyf;fzj;ij cWjpg;gLj;j  
d. rpwg;ghd J}a;ikahd eph;thfj;ij nfhLg;gjw;fhf 

 
30. Consider the following: 

1. Tughlaqabad fort    2. Lodi Garden 
3. Qutub Minar    4. Fatehpur Sikri 
The correct chronological order in which they were built is 
a. 3, 1, 4, 2  b. 3, 1, 2, 4  c. 1, 3, 2, 4  d. 1, 3, 4, 2 
fPo;f;fz;ltw;iw rhpahd fhythpirg;gb vOjTk;. 
1. Jf;sfhghj; Nfhl;il   2. Nyhb Njhl;lk; 
3. FJg;kpdhh;     4. gNjG+h; rpf;hp 
a. 3, 1, 4, 2  b. 3, 1, 2, 4  c. 1, 3, 2, 4  d. 1, 3, 4, 2 

 
31. Match the following: 

Archaeological Material/Pottery   Historical Phase 
A. PGW – Painted Grey Ware   1. Gupta Age 
B. Black and Red Ware    2. Harappan Age 
C. NBPW – Northern Black    3. Early Historic Age  
D. RPW – Red Polished Ware    4. Mauryan Age  
 A B C D 
a. 2 3 4 1 
b. 1 4 3 2 
c. 2 4 3 1 
d. 1 3 4 2 
nghUj;Jf 
mfo;tha;T nghUl;fs; ghz;lq;fs;   tuyhw;W fhyk; 
A. tz;zk; g+rg;gl;l gOg;G nghUl;fs;  1. Fg;jh; fhyk; 
B. fUg;G rptg;G nghUl;fs;    2. `ug;gh fhyk; 
C. tlf;fj;jpa fUg;G kpDkpDg;G nghUl;fs;  3. rhpj;jpufhy Jtf;fk; 
D. rptg;G kpDkpDg;G nghUl;fs;   4. nkshpah; fhyk; 

A B C D 
a. 2 3 4 1 
b. 1 4 3 2 
c. 2 4 3 1 
d. 1 3 4 2 

  
32. Which one of the following Muslim rulers was hailed as the ‘Jagadguru’ by his Muslim subject 

because of his belief in secularism? 
a. Hussain Shah b. Akbar c. Ibrahim Adil Shah   d. Mahmud II 
jd;Dila kjr; rhh;gw;w nfhs;ifahy; ve;j K];yPk; kd;dh; [fj;FU vd;W miof;fg;gl;lhh;? 
a. `_ird; ~h b. mf;gh; c. ,g;uh`pk; mby; ~h   d. ,uz;lhk; Kfk;kJ 

 
33. In a budget the deduction of total plan and non-plan expenditure from the sum of Revenue receipts, 

recovery of loans and other receipts is 
A. Revenue Deficit   B. Gross Fiscal Deficit 
C. Net Fiscal Deficit   D. Primary Deficit 
epjp epiy mwpf;ifapy; nkhj;j jpl;lk; rhh; kw;Wk; jpl;lk; rhuh nryTfis tUtha; tuT fld; kPl;rp 
kw;Wk; gpw tUthapd; $l;Lj; njhifapypUe;J fopj;J tUtJ  
A. tUtha; gw;whf;Fiw   B. nkhj;j epjpg; gw;whf;Fiw  
C. epfu epjpg; gw;whf;Fiw   D. mbg;gil gw;whf;Fiw 

 



 

9 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

34. Which of the following is incorrect? 
a. GDP at market price= GDP at factor cost plus net indirect taxes 
b. NNP at factor cost = NNP at market price minus net indirect taxes 
c. GNP at market price = GDP at market price plus net factor income from abroad 
d. None of the above 
fPNo nfhLf;fg;gl;Ls;stw;wpy; vit jtwhdJ? 
a. mq;fhb tpiyapy; nkhj;j cs;ehl;L cw;gj;jp = fhuzp tpiyapy; nkhj;j cs;ehl;L cw;gj;jp 
kw;Wk; epfu kiwKf thpfs;  
b. fhuzp tpiyapy; epfu ehl;L cw;gj;jp = mq;fhb tpiyapy; epfu ehl;L cw;gj;jp – epfu kiwKf 
thpfs;  
c. mq;fhb tpiyapy; nkhj;j ehl;L cw;gj;jp = mq;fhb tpiyapy; nkhj;j cs;ehl;L cw;gj;jp + 
nkhj;j ntspehl;by; ,Ue;J tUk; fhuzpfspd; epfu tUkhdk;  
d. Nkw;$wpa vitAk; ,y;iy 

 
35. Match the following: 

A    B 
      a. The Bank of Venice    1. 1609 
       b. Bank of England    2. 1806 
       c. Bank of Bengal    3. 1694 
       d. Bank of Amsterdam  4. 1157 

A B C D 
a.  3 2 1 4 
b. 3 2 4 1 
c.  1 2 3 4 
d.  4 3 2 1 

      nghUj;Jf. 
  A     B 
   A. ntdp]; tq;fp   1. 1609 
   B. ,q;fpyhe;J tq;fp   2. 1806 
   C. tq;fhs tq;fp   3. 1694 
   D. Mk;];lh;lhk; tq;fp   4. 1157 

A B C D  
a.  3 2 1 4 
b.  3 2 4 1 
c.  1 2 3 4 
d.  4 3 2 1 

 
36. If one root – of the equation 3x2 + kx – 81 = 0 is the square of the other find k.  

a. 36   b. -18   c. 18  d. -36  
3x2 + kx – 81 = 0  vd;w rkd;ghl;bd; xU %yk; kw;nwhU %yj;jpd; th;f;fk; vdpy; K d; kjpg;G?  
a. 36   b. -18   c. 18  d. -36  

 

37. Simplify: 
2 2

2 2

2 5 3 2 1

2 9 9 2 3

x x x x

x x x x

+ − + −


+ + + −
 

a. 
3( 1)

3( 1)

x x

x x

+ −

− +
  b. 

3( 1)

3( 1)

x x

x x

− +

+ −
 c. 

3

3

x

x

−

+
  d. 

( )
( )

1

1

x

x

−

+
 

RUf;Ff: 
2 2

2 2

2 5 3 2 1

2 9 9 2 3

x x x x

x x x x

+ − + −


+ + + −
 

a. 
3( 1)

3( 1)

x x

x x

+ −

− +
  b. 

3( 1)

3( 1)

x x

x x

− +

+ −
 c. 

3

3

x

x

−

+
  d. 

( )
( )

1

1

x

x

−

+
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38. A hollow sphere of external and internal diameters of 8 cm and 4 cm respectively is melted and 
made into another solid in the shape of a right circular cone of base diameter of 8 cm. Find the 
height of the cone 
a. 7cm    b. 14 cm   c. 10.5 cm  d. 21 cm  
xU cs;sPlw;w Nfhsj;jpd; ntsp kw;Wk; cs; tpl;lq;fs; KiwNa 8 nr.kP kw;Wk; 4 nr.kP ,f;NfhskhdJ 
cUf;fg;gl;L 8 nr.kP tpl;lKs;s Neh; tl;l jpz;kf; $k;ghf khw;wg;gl;lhy; $k;gpd; cauj;ijf; fhz;f.  
a. 7 nr.kP  b. 14 nr.kP  c. 10.5 nr.kP  d. 21 nr.kP  

 
39. The probability that a non – leap year will have 53 Sundays and 53 Monday is  

a. 
1

7
   b. 

2

7
   c. 1   d. 0 

xU rhjhuz tUlkhdJ 53 Qhapw;Wf;fpoikfs; kw;Wk; 53 jpq;fl;fpoikfs; nfhz;bUg;gjw;fhd 
epfo;jfT: 

a. 
1

7
   b. 

2

7
   c. 1   d. 0 

 
40. Find the least number that is divisible by the first ten natural numbers.  

a. 2520  b. 1260  c. 630  d. 5040 
Kjy; 10 ,ay; vz;fshy; kPjpapd;wp tFgl $ba rpwpa vz; vJ?  
a. 2520  b. 1260  c. 630  d. 5040 

 
41. Education is 

a. Consumption and investment b. Consumption and Expenditure 
c. Consumption and Income   d. Consumption and Experience 
fy;tp vd;gJ 
a. Efh;Tk; KjyPLk;     b. Efh;Tk; nryTk;   
c. Efh;Tk; tUkhdKk;    d. Efh;Tk; mDgtKk; 

 
42. Consider the following statements. 

Assertion(A): Self-Respect Movement was considered as Socially Revolutionary Movement. 
Reason(R) : It aimed at creating a new, rational society without caste, religion and God. 
Choose the correct option. 
a. Both (A) and (R) are true and (R)is correct explanation of (A)  
b. Both (A) and (R) are true but (R) is not correct explanation of (A) 
c. (A) is true but (R) is false 
d. Both (A) and (R) are false 
gpd;tUk; $w;Wfis Ma;f. 
$w;W (A):Rakhpahij ,af;fkhdJ r%f Gul;rpfu ,af;fkhf fUjg;gLfpwJ. 
fhuzk; (R): ,J Gjpa> rhjp> kjk;> flTs; ,y;yhj gFj;jwpT r%fj;ij cUthf;FtijNa 
Nehf;fkhff; nfhz;bUe;jJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;F rhpahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;F rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; jtW 

 
43. Choose the correct pair regarding Self Respect Conference 

I. 1929 – Chengalpet  II. 1930 – Erode III. 1931 – Virudhunagar   
a. I only  b. II only  c. III only  d. I, II and III 
Rakhpahij khehLfs; njhlh;ghd rhpahd ,iziaf; fhz;f. 
I. 1929 – nrq;fy;gl;L  II. 1930 - <NuhL III. 1931 – tpUJefu; 
a. I kl;Lk;  b. II kl;Lk;  c. III kl;Lk;  d. I, II, III 

 
 
44. Consider the following statements regarding C. N. Annadurai 
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I. He served as Member of Rajya Sabha between 1962 and 1967. 
II. He joined in Justice Party in 1935 
III. He legalized Self-Respect Marriages for the first time in the country 
Choose the correct option. 
a. I and III are correct   b. I and II are correct 
c. III only correct   d. All are correct 
C.N. mz;zhJiu gw;wpa gpd;tUk; $w;Wfis Ma;f. 
I. mth; khepyq;fsit cWg;gpduhf 1962 Kjy; 1967 tiu gzpahw;wpdhh;. 
II. mth; 1935Mk; Mz;L ePjpfl;rpapy; ,ize;jhh; 
III. mth; ,e;jpahtpy; Kjd; Kiwahf Rakhpahij jpUkzq;fis mq;fPfhpj;J rl;lk; ,aw;wpdhh; 
rhpahd tpilia Njh;e;njL. 
a. I, III rhp  b. I, II rhp  c. III kl;Lk; rhp  d. midj;Jk; rhp 

 
45. Who was the founder of Advaidananda sabha? 

a. Vaidayanadha Iyer  b. Rettamalai Srinivasan 
c. Iyotheedasar  d. Vadalur Vallalar 
mj;tpjhee;jh rig vd;w mikg;ig Njhw;Wtpj;jth; ahh;? 
a. itj;jpaehj Iah;  b. ,ul;ilkiy rPdpthrd; 
c. mNahj;jpjhru;  d. tlY}h; ts;syhh; 

 
46. Consider the following statements. 

I. Justice Party was renamed as Dravidar Kalagam in 1944 
II. Dravidar Kazhagam is a Political Organization  
III. Choose the correct option. 
a. I only correct   b. II only correct 
c. Both I and II are correct  d. Both I and II are wrong 
gpd;tUk; $w;Wfis Ma;f. 
I. ePjpf;fl;rpahdJ 1944 Mk; Mz;L jpuhtplh; fofk; vd ngau; khw;wk; nra;ag;gl;lJ. 
II. jpuhtplh; fofk; xU murpay; mikg;ghFk;. 
rhpahd tpilia Njh;e;njL. 
a. I kl;Lk; rhp  b. II kl;Lk;  c. I, II rhp  d. I, II jtW 

 
47. Who was the last President of Justice Party? 

a. P. T. Thiyagarayar   b. Raja of Bobbili 
c. P. T. Rajan    d. Munusamy Naidu 
ePjpf;fl;rpapd; filrpj; jiyth; ahh;? 
a. P.T. jpahfuhah;   b. nghg;gpyp uh[h 
c. P.T. uh[d;    d. KDrhkp ehAL 

 
48. Which one of following work is not mentioned about flourishing trade and commerce of Poombuhar 

Port? 
a. Pattinapalai   b. Silapathigaram 
c. Seevagasindhamani  d. Manimegalai 
G+k;Gfhu; JiwKfj;jpy; rPUk; rpwg;Gkhf ele;j tzpfk; Fwpj;J $Wk; E}y;fSs; nghUe;jhjJ 
a. gl;bdg;ghiy  b. rpyg;gjpfhuk;   
c. rPtfrpe;jhkzp   d. kzpNkfiy 

 
49. Which is not one of the most important names of the Sangam period Ai kings? 

a. Nidhiyan  b. Andhiran  c. Nannan  d. Nanmaran 
rq;f fhyj;J Ma; kd;du;fspy; Kf;fpakhdtu;fspd; ngau;fSs; nghUe;jhjJ? 
a. epjpad;  b. me;jpud;  c. ed;dd;  d. ed;khwd; 

 
 
 
50. Match the following: 
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A. Mixed fertilizer    1. DAP 
B. Complex fertilizer                    2. NPK 
C. Bio fertilizer                              3. Oil cake 
D. Organic nitrogen fertilizer       4. Algae 

A B C D  
a.  1 2 3 4   
b. 2 1 4 3     
c. 3 2 1 4  
d. 4 3 2 1       
nghUj;Jf: 
A. fyg;G cuq;fs;   1. B.v.gp. 
B. rpf;fyhd cuq;fs;   2. vd;.gp.Nf 
C. caph; cuq;fs;   3. vz;nza; Nff; 
D. fhpk iel;u[d; cuq;fs;  4. ghrp 

A B C D  
a.  1 2 3 4   
b. 2 1 4 3     
c. 3 2 1 4  
d. 4 3 2 1  

 
51. Match the following with correct answer: 

A. Parathion  1. thiocarbamate fungicide  
B. Nabam  2. non-systematic fungicide 
C. Captan  3. organo phosphorous insecticide  
D. Carboxin  4. systematic fungicide 
 A B C D 
a. 2 1 3 4    
b. 3 2 4 1   
c. 2 4 1 3   
d. 3 1 2 4 
rhpahd tpilfNshL nghUj;Jf 
A. ghujpahd;  1. jNah fhh;gNkl; fhshd; nfhy;yp 
B. eghk;  2. xOq;fw;w fhshd; nfhy;yp 
C. Nfg;lhd;  3. fhpk gh];gu]; G+r;rpf; nfhy;yp 
D. fhh;ghf;]pd;  4. xOq;fhd fhshd; nfhy;yp 
 A B C D 
a. 2 1 3 4    
b. 3 2 4 1   
c. 2 4 1 3   
d. 3 1 2 4 

 
52. Ceres is a _______.  

a. Meteor  b. Star   c. Planet  d. Astroid  
nru]; vd;gJ __________.  
a. tpz;fy;  b. tpz;kPd;  c. Nfhs;  d. rpWNfhs; 

 
53. The Big Bang occurred _____ years ago.  

a. 13.7 billion  b. 15 million  c. 13 billion  d. 20 million  
________ Mz;LfSf;F Kd;G ngUntbg;G Vw;gl;lJ.  
a. 13.7 kpy;ypad;  b. 15 kpy;ypad;  c. 13 kpy;ypad;  d. 20 kpy;ypad;  

 
 
54. What is one way you might increase the stability of an object?  
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a. lower the centre of gravity    
b. raise the centre of gravity  
c. increase the height of the object    
d. shorten the base of the object  
xU nghUspd; rkepiyia mjpfhpf;fg; gpd;tUdtw;Ws; vk;Kiwapidg; gpd;gw;wyhk;.  
a. <h;g;G ikaj;jpd; cauj;jpidf; Fiwj;jy;.  
b. <h;g;G ikaj;jpd; cauj;jpid mjpfhpj;jy;  
c. nghUspd; cauj;jpid mjpfhpj;jy;  
d. nghUspd; mbg;gug;gpd; mfyj;jpidf; Fiwj;jy;  

 
55. Who popularised the concept – “Law should Govern”? 

a. Harold.J. Laski  b. Plato  c. Rousseau  d. A.V. Dicey 
‘rl;lj;jpd; Ml;rp’ vd;w fUj;jpid gpugyg;gLj;jpath;? 
a. n`uhy;L. J.yh];fp  b. gpshl;Nlh  c. &Nrh   d. V.tp.ilrp 

 
56. which part of the Indian constitution and articles deals with elections? 

a. Part IX, Articles 326 – 328  b. Part XV, Articles 324- 329 
c. Part X, Articles 326- 329  d. Part V, Articles 325- 328  
,e;jpa murpayikg;gpd; ve;j gFjp kw;Wk; cWg;Gfs; Njh;jy; gw;wpajhFk; 
a. gFjp IX, cWg;Gfs;  326 – 328 b. gFjp XV, cWg;Gfs;  324- 329 

       c. gFjp X, cWg;Gfs;  326- 329 d. gFjp V, cWg;Gfs; 325- 328 
 
57. Political system in India can transform from federal to unitary during and emergency 

a. Without a formal amendment of the constitution 
b. With formal amendment of the constitution 
c. Only with the approval of the 2/3 of the Status 
d. Only with the approval of both parliament and state Legislature 
neUf;fb epiyapy; ,e;jpa murpayikg;G $l;lhr;rpapypUe;J xw;iwahl;rpf;F khw 
a. ,e;jpa murpayikg;G rl;lj;jpUj;jk; Njitapy;iy 
b. Kiwahd murpayikg;G rl;lj;jpUj;jk; Njit 
c. 2/3khepy muRfs; xj;Jf;nfhs;s Ntz;Lk; 
d. ghuhSkd;wk; kw;Wk; khepy rl;lkd;wq;fs; Nrh;e;J xj;Jf;nfhs;s Ntz;Lk;. 

 
58. Consider the statement : 

i. Untouchability was abolished under Article 17 of the Indian Constitution 
ii. Article 17 of Constitution defines the word ‘Untouchability’ 
a. Statement (i) is correct    b. Statement (ii) is correct 
c. Statement (i) is correct but (ii) is incorrect  d. Both statements are correct 
$w;Wfis Muha;f. 
i.  jPz;lhik xopf;fg;glNtz;Lk; vd rl;lf;$W 17 $WfpwJ 
ii. jPz;lhik vd;gJ murpayikg;G rl;l cWg;G 17y; tiuaWf;fg;gl;Ls;sJ  
a. i kl;Lk; rhp      b. ii kl;Lk; rhp 
c. i rhp ii rhpay;y      d. ,uz;L $w;WfSk; rhp 

 
59. Which committee recommend that the seats for SCs and STs should be reserved on the basis of their 

population in Panchayat Raj? 
a. Balwant Rai Mehta Committee  b. Santhanam Committee 
c. Ashok Mehtha Committee   d. Dhar Committee 
cs;shl;rp murhq;fj;jpy; SC kw;Wk; ST fSf;F kf;fs; njhifapd; mbg;gilapy; xJf;fPL Ntz;Lk; 
vd ve;jf; FO ghpe;Jiu nra;jJ? 
a.gy;te;j; uha; Nkj;jh FO   b. re;jhdk; FO  
c. mNrhf; Nkj;jh FO    d. jhh; FO  

 
 
60. Consider the following statements 
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1. Industrial Minister of Tamilnadu presided over the Growth and Investment Conclave of 
Tamilnadu  

2. 18 MoUs signed for an investment ₹19,955 crores with 26509 jobs 
a. 1 only correct  b. 2 only correct 
c. Both are correct  d. Both are incorrect 

 gpd;tUk; $w;Wfis Ma;f 
1. jkpof tsh;r;rp kw;Wk; KjyPl;L khehl;bw;F njhopw;Jiw mikr;rh; jiyik jhq;fpdhh; 
2. &.19>555 Nfhb KjyPL kw;Wk; 26509 Ntiytha;g;GfSf;fhd 18 Ghpe;Jzh;T xg;ge;jq;fspy; 

ifnaOj;jplg;gl;ld 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
 

61. Bharati Award 2020 was given to _______ 
a. Seeni Viswanathan  b. Seeni Ramasamy 
c. Ariyakudi Ramanujan d. Srinivasa Iyyangar 
ghujp tpUJ 2020 ahUf;F toq;fg;gl;lJ? 
a. rPdp tp];tehjd;  b. rPdp ,uhkrhkp 
c. mhpaf;Fb ,uhD[k; d. rPdpthr Ia;aq;fhh; 
 

62. Consider the following statements  
1. Union finance minister Nirmala Seetharaman announced the package of ₹1.70 lakh crore under 

the Pradhan Mandri Gareeb Kalyan Yojana during lockdown period  
2. The benefits of package were divided into two parts viz food security and direct benefit transfer 
a. 1 only correct  b. 2 only correct 
c. Both are correct  d. Both are incorrect 
gpd;tUk; $w;Wfis Ma;f 
1. Cluq;fpd; NghJ gpujk ke;jphpapd; fhPg; fy;ahz; jpl;lj;jpd; fPo; kj;jpa epjp mikr;rh; eph;kyh 

rPjhuhkd; &.1.70 yk;rk; Nfhb epjp njhFg;gpid mwptpj;jhh; 
2. njhFg;gpd; ed;ikfs; czT ghJfhg;G kw;Wk; Neub ed;ik ghpkhw;wk; vd ,uz;L gFjpfshf 

gphpf;fg;gl;Ls;sd 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
 

63. The Indian Way: Strategies for an Uncertain World was authored by  
a. S. Jaisankar   b. Shashi Tharoor  
c. Pranab Mukerjee  d. Romila Thapar 
The Indian Way: Strategies for an Uncertain World vd;w Gj;jfj;ij vOjpath; ahh;? 
a. S. n[a;rq;fh;  b. ~~p j&h; 
c. gpudhg; Kfh;[p  d. nuhkpyh jhg;gh; 
 

64. Playback Singer S.P. Balasubramaniam has won six national film awards for best male playback 
singer. Which one of the following award was not awarded to S.P. Balasubramaniam? 
a. Padmashri  b. Padmabooshan c. Padmavibhusan  d. None of these 
gpd;dzp ghlfh; S.P ghyRg;gpukzpak; MW Kiw rpwe;j gpd;dzp ghlfUf;fhd Njrpa jpiug;gl 
tpUjpid ntd;Ws;shh;. gpd;tUk; tpUJfspy; ve;j tpUjpid S.P. ghyRg;gpukzpak; ngwtpy;iy? 
a. gj;k=  b. gj;kg+rd;  c. gj;ktpg+rd;        d. ,it VJkpy;iy 
 

65. Which among the following is / are tributaries of the “Tapti River”? 
1. Vaki  2. Gomai  3. Arunavati 4. Aner 
a. 1, 3, 4  b. 2, 3, 4  c. 1, 3  d. 1, 2, 3, 4 
gpd;tUtdtw;Ws; ‘jgjp ejpapd;’ JizahWfs; vit? 
1. tf;fp  2. Nfhik  3. mUzhtjp 4. mdph; 
a. 1, 3, 4  b. 2, 3, 4  c. 1, 3  d. 1, 2, 3, 4 
 

66. Find the incorrect pair 
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a. Godhavari  - 1465 km 
b. Krishna  - 1400 km 
c. Kaveri  - 700 km 
d. Tapti  - 752 km 
jtwhd ,iziaf; fhz;f 
a. Nfhjhthp  - 1465 fp.kP 
b. fpU~;zh  - 1400 fp.kP 
c. fhNthp  - 700 fp.kP 
d. jgjp  - 752 fp.kP 
  

67. Find the incorrect statement 
1. Andaman and Nicobar Island has the area of 8249 sq.km  
2. Lakshadweep island has the area of 32 sq.km 
a. 1 only  b. 2 only  c. 1 and 2  d. None of these 
jtwhd $w;iw fz;lwpf 
1. me;jkhd; epNfhghh; jPTfspd; gug;gsT 8249 r.fp.kP MFk;. 
2. ,yl;rjPTfspd; nkhj;j gug;gsT 32 r.fp.kP MFk; 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. ,uz;Lk;  d. ,uz;Lky;y 
 

68. Arrange the following geographical location in descending order in terms of area 
1. The Indian Desert  2. The Deccan Plateau 
3. Rajasthan Plain  4. Ganga Plain 
5. Brahmaputra Plain 
a. 2, 4, 5, 3, 1 b. 2, 4, 1, 3, 5  c. 2, 5, 4, 1, 3  d. 1, 2, 3, 4, 5 
gpd;tUk; Gtpapay; mikg;ig mtw;wpd; gug;gstpd; mbg;gilapy; ,wq;FthpirgLj;Jf 
1. ,e;jpa ghiytdk;  2. jf;fhz gPlg+kp 
3. uh[];jhd; rkntsp  4. fq;if rkntsp 
5. gpuk;kGj;jpuh rkntsp 
a. 2, 4, 5, 3, 1 b. 2, 4, 1, 3, 5  c. 2, 5, 4, 1, 3  d. 1, 2, 3, 4, 5 
 

69. “KUMAUM” Himalaya is located in between 
a. Indus – Sutlej  b. Kali – Tista 
c. Sutlej- Kali   d. Tista – Dihang 
“FNkhk;” ,kakiy gphpT mike;Js;s ,ilntsp 
a. rpe;J – rl;y[;  b. fhsp – jP];jh 
c. rl;y[; - fhsp  d. jP];jh – jpfq; 
 

70. At the time of India’s Independence, Mahatma Gandhi was 
a. A member of congress working committee 
b. Not a member of the congress 
c. The president of the congress 
d. The General Secretary of the congress 
,e;jpah Rje;jpukilAk; NghJ 
a. fhq;fpu]; fl;rpapy; cWg;gpduhf ,Ue;jhu; 
b. fhq;fpu]; fl;rpapy; cWg;gpduhf ,y;iy 
c. fhq;fpu]; fl;rpapd; jiyth; 
d. fhq;fpu]; fl;rpapd; nghJr; nrayhsuhf ,Ue;jhu; 

 
71. Match List I with List II  

 A. Chittagong Armoury raid  1. Kalpana Dutt 
 B. Abhinav Bharat   2. Guru Ram Singh 
 C. Anushilan Samiti   3. Vikram Damodar Savarkar 
 D. Kuka Movement   4. Aurobindo Ghosh 

A B C D 
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a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 
nghUj;Jf. 
thpir I     thpir II 
A. rpl;lfhq; MAjfplq;F #iw 1. fy;gdhjj; 
B. mgpdht; ghuj;   2. FUuhk;rpq; 
C. mDrPyhd; rkpjp   3. tpf;uk;jhNkhjh; 
D. Ff;fh ,af;fk;   4. mugpe;Njh Nfh~; 

A B C D 
a.  1 3 4 2 
b.  1 2 3 4 
c.  3 1 2 4 
d.  3 1 4 2 

 
72. Consider the following statements. 

Assertion (A): In 1916, Maulana Mohammed Ali ,Abul Kalam Azad resigned from the Legislative 
Council. 
Reason (R): The Rowlatt Act was passed by the government in spite of being opposed by all Indian 
members of the Legislative Council. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
gpd;tUtdtw;iw Ma;f. 
$w;W (A):1916y; kTyhdh Kfk;kJ myp> mg;Jy; fyhk; Mrhj; kf;fs; gpujpejp FOtpypUe;J tpyfpdh; 
fhuzk; (R): kf;fs; gpujpepjpj;Jt FOtpy; ut;yl; rl;lj;ij epiwNtw;w fLk; vjph;g;G njhptpj;j 
NghjpYk; ut;yl; rl;lk; epiwNtw;wg;gl;lJ 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 

 
73. Consider the following statements. 

Assertion (A): According to the Wavell Plan, number of Hindu and Muslim members in the Executive 
Council were to be equal. 
Reason (R): Wavell thought that this arrangement would have avoided the partition of India. 
a. Both ‘A’ and ‘R’ are individually true and ‘R’ is the correct explanation of ‘A’. 
b. Both ‘A’ and ‘R’ are individually true but ‘R’ is not the correct explanation of ‘A’. 
c. ‘A’ is true, but ‘R’ is false. 
d. ‘A’ is false, but ‘R’ is true. 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): Ntty; jpl;lj;jpd;gb eph;thff; FOtpd; cWg;gpdh; vz;zpf;ifapy; ,e;Jf;fSk;> 
K];yPk;fSk; rk vz;zpf;ifapy; ,Ue;jdh;. 
fhuzk; (R): ,e;j Vw;ghL ,e;jpa gphptidia jLf;Fk; vd epidj;jhh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 

 
74. Which one of the Director’s of East India Company was responsible for the formation of Madras 

Municipal Corporation? 
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a. Sir John Shore  b. Sir John Clarke 
c. Sir William Bentick  d. Sir Josiah child 
fpof;fpe;jpaf; fk;ngdpapd; ve;j xU ,af;Feu;> nrd;id kheuhl;rp cUthf fhuzkhf ,Ue;jhu;? 
a. ru; [hd; Nrhu;  b. ru; [hd; fpshu;f; 
c. ru; tpy;ypak; ngz;bq; d. ru; N[hrpah iry;L 

 
75. Match the following 

Acts     Year 
A. Trade Union Act   1. 1947 
B. Minimum Wages Act  2. 1926 
C. Equal Remuneration Act  3. 1976 
D. Industrial Dispute Act  4. 1948 
 A B C D 
a. 2 4 1 3 
b. 2 4 3 1 
c. 2 3 4 1 
d. 2 1 3 4 
nghUj;Jf 
rl;lq;fs;    Mz;L 
A. njhopw;rq;f rl;lk;   1. 1947 
B. Fiwe;jgl;r $yp rl;lk;  2. 1926 
C. rkCjpa rl;lk;   3. 1976 
D. njhopw;Jiw gq;fPl;L rl;lk; 4. 1948 
 A B C D 
a. 2 4 1 3 
b. 2 4 3 1 
c. 2 3 4 1 
d. 2 1 3 4 

 

76. Find the sum of 
3 2 5 3a b a b a b

a b a b a b

− − − 
+ + 

+ + + 
 + ...... to 12 terms.  

3 2 5 3a b a b a b

a b a b a b

− − − 
+ + 

+ + + 
...... 1 Kjy; 12 cWg;Gfspd; $Ljy; fhz;.  

 

a.  
6

24 13a b
a b

+
−

   b.  
6

24 13a b
a b

−
+

 

c.  
6

24 13a b
a b

+
+

   d.  
6

24 13a b
a b

−
−

 

 
77. Which one is a Amicable Numbers? 

a. 220, 284  b. 284, 232   c. 217, 294   d. 471, 513  
gpd;tUtdtw;Ws; vJ ,zq;F vz;fs;?  
a. 220, 284  b. 284, 232   c. 217, 294   d. 471, 513  
 

78. In what proportion must a grocer mix wheat at 2.10kg and 2.80 per kg So as to make a mixture of 
worth 2.45 per kg? 
a. 2 : 3   b. 3 : 4  c. 1 : 1  d. 5 : 3 
xU filf;fhuh; & 2.10 fpfp NfhJikAk; & 2.80 fp.fp. NfhJik ufj;ijAk;  ve;j tpfpjj;jpy; 
fpNyh fpuhkpw;F & 2.45 ngWkhd NfhJikiaj; jahh;  gLj;jKbAk;?  
 a. 2 : 3   b. 3 : 4  c. 1 : 1  d. 5 : 3 

79. A girl is twice as old as her sister. Five years hence, the product of their ages (in years) will be 375. 
Find their present age of girl?  
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a. 20 years  b. 10 years   c. 14 years  d. 8 years  
xU rpWkpapd; taJ mts; rNfhjhpapd; taijg; Nghy ,U klq;F. Ie;J tUlq;fSf;F gpwF mth;fspd; 
tajpd; ngUf;fy; gyd; 375. vdpy; me;j rpWkpapd; taJ vd;d?  
a. 20 tUlq;fs;  b. 10 tUlq;fs;  c. 14 tUlq;fs;  d. 8 tUlq;fs;  
   

80. A tower is 60 m height. Its shadow is x metres shorter when the sun’s altitude is 45° than when it has 
been 30°, then x is equal to  
a. 41.92 m   b. 43.92 m   c.  43 m   d.  45.6 m  
xU NfhGuj;jpd; cauk; 60 kP #hpaid fhZk; Vw;wf;Nfhzk; 30° y; ,Ue;J 45° Mf caUk; NghJ 
NfhGuj;jpd; epoy; MdJ x kPl;lh; FiwfpwJ vdpy; x d; kjpg;G  
a. 41.92 kP  b. 43.92 kP  c. 43 kP   d. 45.6 kP  
 

81. Choose the incorrect pair 
a. Consumer Protection Act, 1986 
b. The Legal Metrology Act, 2009 
c. The Bureau of Indian Standards Act, 1986 
d. The Essential Commodities Act, 1957 
jtwhd ,iziaf; fhz;f 
a. Efh;Nthh; ghJfhg;G rl;lk;> 1986 
b. rl;l mstPl;Lr; rl;lk;> 2009 
c. ,e;jpa ju eph;za gzpafk;> 1986 
d. mj;jpahtrpa nghUl;fs; rl;lk;> 1957 

 
82. Consider the following regarding Tamil Nadu Economy, 

i. For the third consecutive year, Tamil Nadu registered a higher economic growth rate than 
the national average.  At 8.03 per cent, it was double the all-India average of 4.2 per cent in 
2019-20. 

ii. The state’s per capita income in the same year was Rs 1,53,853, taking it from 12th place in the 
previous year to sixth position now. 

iii. Since 1994, poverty has declined steadily both in urban and rural areas. 
a. i and iii only correct   b. i and ii only correct 
c. All are correct    d. All are incorrect 
jkpo;ehL nghUshjhuk; Fwpj;J gpd;tUk; $w;wpid Ma;f. 
i. njhlu;r;rpahf %d;whtJ Mz;lhf> jkpo;ehL Njrpa ruhrupia tpl mjpf nghUshjhu 

tsu;r;rp tpfpjj;ij gjpT nra;jJ.  8.03 rjtPjkhf> ,J 2019-20y; mfpy ,e;jpa ruhrupahd 
4.2 rjtPjj;ij tpl ,U klq;fhf ,Ue;jJ. 

ii. mNj Mz;by; khepyj;jpd; jdpegu; tUkhdk; &.1>53>853 Mf ,Ue;jJ> ,J Ke;ija 
Mz;bd; 12tJ ,lj;jpypUe;J ,g;NghJ MwhtJ ,lj;jpw;F Kd;NdwpaJ. 

iii. 1994 Kjy;> efu;g;Gw kw;Wk; fpuhkg;Gwq;fspy; tWik gbg;gbahff; Fiwe;Js;sJ. 
a. i kw;Wk; iii kl;Lk; rup   b. i kw;Wk; ii kl;Lk; rup 
c. midj;Jk; rup    d. midj;Jk; jtW 

 
83. Choose the correct pair 

1. Rajasimman - Narashimhavarman II 
2. Vadhabi Kondan – Narashimhavarman I 
3. Title of Gunabaaran – Mahendravarman I 
a. 1, 3  b. 1, 2,   c. 1 only  d. All of these 
rhpahd $w;Wfis fz;lwpf 
1. ,uh[rpk;kd; - ,uz;lhk; eurpk;ktu;kd;   
2. thjhgp nfhz;lhd; - Kjyhk; eurpk;ktu;kd; 
3. Fzghud; vd;Dk; gl;lk; ngw;wtu; - Kjyhk; kNfe;jputu;kd; 
a. 1> 3  b. 1> 2  c. 1 kl;Lk;   d. ,it midj;Jk; 

 
84. The famous musician Rudracharya was the contemporary of _______ 

a. Mahendravarman   b. Narashimavarman I 
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c. Narashimavarman II  d. Shimma Vishnu 
Gfo;ngw;w ,irf; fiyQuhd Uj;uhr;rhupahu; ahu; fhyj;jpy; tho;e;jtu; 
a. kNfe;jputu;kd;   b. Kjyhk; eurpk;ktu;kd; 
c. ,uz;lhk; eurpk;ktu;kd;  d. rpk;k tp~;Z 

 
85. Choose the correct statements  

Patrons    Poet 
1. Shimvishnu   Baravi, Sanskrit Poet 
2. Pulakesin II   Ravikeerthi 
3. Narashimavarman I  Dhandin 
4. Nandivarman II   Perundevanar 
a. 1, 2, 3  b. 2, 3  c. 3, 4 only  d. All of these 
rhpahd $w;Wfis fz;lwpf 
1. rpk;k tp~;Ztpd; fhyj;jpy; tho;e;j rk];fpUj mwpQu; - ghutp  
2. rhSf;fpa murd; ,uz;lhk; GypNfrpapd; mitf;fsg; Gytu; - utpfPu;j;jp 
3. Kjyhk; eurpk;ktu;kdpd; mitia myq;fwpj;jtu; - jz;bd;    
4. ,uz;lhk; ee;jptu;kdhy; Mjupf;fg;gl;ltu; - ngUe;Njtdhu;   
a. 1> 2> 3  b. 2> 3  c. 3> 4 kl;Lk;  d. ,it midj;Jk; 
 

86. Who is known as Parankusan 
a. Arikesari Maravarman  b. Nedujadaiyan 
c. Srimara Srivallaban   d. Varagunan I 
guq;Frd; vd miof;fg;gl;lth; ahh;? 
a. mupNfrup khwtu;kd;  b. neLQ;rilad; 
c. =khw =ty;ygd;   d. Kjyhk; tuFzd; 

 
87. Chola’s revenue was heavily based on land revenue. The land revenue was known as 

a. Pallichandam b. Kanikadan  c. Uzhukudi  d. Bramadeyam 
Nrho murpd; ngUtUtha; Kf;fpakhf epytup %yk; ngwg;gl;lJ epytupahdJ vt;thW miof;fg;gl;lJ 
a. gs;spr;re;jk;  b. fhzpf;fld;  c. cOFb  d. gpuk;kNjak; 

 
88. Who ascended the throne in the name Junakhan in 1325? 

a. Perosha Tuglaq   b. Muhammed bin Tuglaq 
c. Alauddin Khilji   d. Jalaluddin Khilji 
[{dhfhd; vd;Dk; ngaupy; 1325y; mupaiz Vwpatu; 
a. ngNuh~; ~h Jf;sf;  b. Kfk;kJ gpd; Jf;sf; 
c. myhTjPd; fpy;[p   d. [yhYjPd; fpy;[p 

 
89. Match the following 

A. Pallavas     1. After 1600 A.D 
B. Early Cholas    2. 600 – 850 A.D 
C. Later Cholas   3. 1350 – 1600 A.D 
D. Vijayanagar / Nayaks  4. 1100 – 1350 A.D 
E. Modern    5. 850 – 1100 A.D 

A B C D E 
a. 4 2 1 3 5 
b. 2 4 5 3 1 
c. 4 1 2 5 3 
d. 2 5 4 3 1 
 
 
 
 
nghUj;Jf 
A. gy;ytu; fhyk;   1. fp.gp. 1600f;F gpd; 
B. Kw;fhyr; Nrhou;fs; fhyk;  2. fp.gp. 600-850 
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C. gpw;fhyr; Nrhou;fs; fhyk;  3. fp.gp. 1350-1600 
D. tp[aefu/ehaf;fu; fhyk;  4. fp.gp. 1100-1350 
E. etPd fhyk;    5. fp.gp. 850-1100  

A B C D E 
a. 4 2 1 3 5 
b. 2 4 5 3 1 
c. 4 1 2 5 3 
d. 2 5 4 3 1 

 
90. First Jain conference was held at 

a. Vallabi  b. Kancheepuram c. Padaliputhiram  d. Vaisali 
Kjy; rkz Nguitf;$l;lk; vq;F eilngw;wJ? 
a. ty;ygp  b. fhQ;rpGuk;  c. ghlypGj;jpuk;  d. itrhyp 

 
91. Who patronised Sudamani Vihara build by Sri Vijaya in Nagapattinam? 

a. Rajaraja Chola   b. Narashimavarma II 
c. Narashimavarma I   d. Varaguna I  
ehfg;gl;bdj;jpy; =tp[ah murhy; fl;lg;gl;l #lhkzp tpfhiuf;F Mjutspj;jtu;. 
a. uh[uh[Nrhod;   b. ,uz;lhk; eurpk;ktu;kd; 
c. Kjyhk; eurpk;ktu;kd;  d. Kjyhk; tuFzd; 

 
92. Which literary work mentions the well designed ship of Yavanas caring gold and other metal coins 

came to Musiri port to carry pepper? 
a. Pattinapalai   b. Madhuraikanchi c. Agananooru  d. Purananooru 
ed;F tbtikf;fg;gl;l atdu;fspd; fg;gy; jq;fk; kw;Wk; gpw cNyhf fhRfSld; Krpwp 
JiwKfj;jpw;F te;J kpsif Vw;wpr; nrd;wjhf $Wk; E}y; 
a. gl;bdg;ghiy  b. kJiuf;fhQ;rp c. mfehD}W  d. GwehD}W 

 
93. Who build the 8th Century Jain temple at Kazhugumalai, in Tuticorin? 

a. Narashimavarman II  b. Parandhaga Nedujadaiyan 
c. Narashimavarman I  d. Varagunan  
J}j;Jf;Fb khtl;lk; Nfhtpy;gl;b tl;lk; fOFkiyapYs;s fp.gp. vl;lhk; E}w;whz;ilr; Nru;e;j rkzu; 
Nfhtpiy cUthf;fpatu; 
a. ,uz;lhk; eurpk;ktu;kd;  b. guhe;jf neLQ;rilad; 
c. Kjyhk; eurpk;ktu;kd;  d. Kjyhk; tuFzd; 

 
94. The centrifugal force is _______. 

a. Real force     
b. The force of reaction of centripetal force  
c. Virtual force    
d. Directed towards the centre of the circular path. 
ikatpyf;F tpir Xh; 
a. cz;ikahd tpir  
b. ikaNehf;F tpirf;F vjpuhd tpir  
c. nka;epfh; tpir  
d. tl;lg; ghijapd; ikaj;ij Nehf;fp ,aq;Fk; tpir  

 
95. The sound waves are reflected from an obstacle into the same medium from which they were incident. 

Which of the following changes?  
a. speed   b. frequency   c. wavelength   d. none of these 
 
 
xU xyp miyahdJ vjpnuhypf;fg;gl;L kPz;Lk; mNj Clfj;jpy; guTk;NghJ> fPo;fz;ltw;Ws; vJ 
khw;wkilAk; 
a. Ntfk;  b. mjph;ntz;  c. miyePsk;  d. vJTkpy;iy 
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96. The light emitted in an LED is due to  

 a. Recombination of charge carriers  
 b. Reflection of light due to lens action  
 c. Amplification of light falling at the junction  
 d. Large current capacity 
 xsp ckpo;T ilNahby; xsp ckpog;glf;fhuzk;  
 a. kpd;D}l;l Ch;jpfspd; kW ,izg;G  
 b. nyd;Rfspd; nray;ghl;lhy; Vw;gLk; xsp vjpnuhspg;G  
 c. re;jpapd; kPJ gLk; xspapd; ngUf;fk;  
 d. kpfg; nghpa kpd;Ndhl;l flj;Jk; jpwd; 
 
97. Match the following 

Party    Symbol 
a. Biju Janata Dal  1. Plough 
b. Shiromomani Akali Dal 2. Bungalow 
c. J.K. National Conference 3. Conch 
d. Lok Jan Shakthi Party 4. Scales 
 a b c d 
A. 3 4 1 2 
B. 2 1 3 4 
C. 4 3 2 1 
D. 1 2 3 4 
nghUj;Jf:  
 fl;rp      rpd;dk;  
A. gp[{[djh jsk; fl;rp    1. Vh;fyg;ig  
B. rpNuhNkhdp mfhyp jsfl;rp   2. khspif  
C. [k;K fh~;kPh; Njrpa khehl;L fl;rp  3. rq;F  
D. kf;fs; [d rf;jp fl;rp   4. juhR 
 a b c d 
A. 3 4 1 2 
B. 2 1 3 4 
C. 4 3 2 1 
D. 1 2 3 4 

 
98. Which one of the following pair is not matched properly? 

a. National commission for Backward class   -        1994 
b. National commission for Women                 -         1992 
c. National Human Rights Commission          -         1993 
d. National commission for Minorities           -         1993 
fPo;fz;;ltw;wpy; vit rhpahf nghUe;jtpy;iy? 
a. gpw;gLj;jg;gl;NlhUf;fhd Njrpa Mizak;  - 1994 
b. kfsph;fhd Njrpa Mizak;   - 1992 
c. Njrpa kdpj chpik Mizak;   - 1993 
d. rpWghd;ikapdUf;fhd Njrpa Mizak;  - 1993 

 
99. Which article guarantee constitutional safeguard to civil servants? 

 a. Article 310  b. Article 311  c. Article 314  d. Article 312 
muR gzpash;fSf;F ve;j ruj;J murpayikg;G rl;lg; ghJfhg;G mspf;fpwJ>? 

 a. ruj;J 310  b. ruj;J 311  c. ruj;J 314  d. ruj;J 312 
 
 
100. Consider the following statement is/are correct. 

i. The PMO was originally called the Prime Minister’s Secretariat. 
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ii. It was renamed by Indra Gandhi Ministry. 
a. i only  b. ii only  c. Both i and ii  d. None 
gpd;tUk; $w;wfSs; vJ/vit rup. 
i. PMO vd;gJ gpujkupd; nrayfk; vd miof;fg;gl;lJ. 
ii. gpujkupd; nrayfj;ij PMO vd ngau;khw;wk; nra;jtu; ,e;jpuhfhe;jp. 
a. i kl;Lk; rup   b. ii kl;Lk; rup  
c. i kw;Wk; ii ,uz;Lk; rup d. vJTkpy;iy 

 
101. Consider the following statement is/are correct. 

i. October 1, 1926 – Public Service Commission 
ii. April 1, 1937 – Federal Public Service Commission 
iii. January 26, 1950 – Union Public Service Commission 
iv. July 15, 2008 – Female candidates have been exempted from payment for Civil Services 

Exam. 
a. i, ii   b. i, ii, iv  c. i, ii, iii  d. all the above 
gpd;tUk; $w;wfSs; vJ/vit rup. 
i. mf;Nlhgu; 1> 1926 – gzpahsu; Nju;thizak; 
ii. Vg;uy; 1> 1937 – gpuhe;jpa gzpahsu; Nju;thizak; 
iii. [dtup 26> 1950 – kj;jpa gzpahsu; Nju;thizak; 
iv. [{iy-15> 2008 – ngz;fs; rptpy; ru;tPr]; Nju;Tf;fhd fl;lzj;jpypUe;J tpyf;F 

mspf;fg;gl;Ls;sdu;. 
a. i, ii   b. i, ii, iv  c. i, ii, iii  d. Nkw;fz;l midj;Jk; 

  
102. The photo titled ‘Lights of Passion’ by Aishwarya Sridhar got her the  

a. Whitley Awards    
b. Volvo Environmental Prize 
c. Wild Life Photographer of the year Award (2020) 
d. Bishnoi National Award for wild life 
I];th;ah =jh; vLj;j Gifg;glkhd ‘iyl;]; M/g; Ng~d;’ (Lights of Fashion) mtUf;F 
vt;tpUjpidg; ngw;Wj;je;jJ? 
a. itl;yp tpUJ     
b. thy;Nth Rw;Wr;#oy; ghpR 
c. Mz;bd; rpwe;j fhl;Laph; Gifg;glf;fhuh; tpUJ (2020) 
d. fhl;Laphpf;fhd gp~;Ndha; Njrpa tpUJ 

 
103. Consider the following on “The Mullai Periyar Drinking Water Project” 

1. It envisages laying of Pipe line from Lower Camp to Madurai city 
2. The Total cost allocated is 1,900.86 crores 
3. It will provide drinking water for 100 wards of Madurai 
4. Project to be completed by 2023. 
Which among the following is/are correct? 
a. 1, 2 and 4  b. 1 and 2  c. 1, 2 and 3   d. 1, 3 and 4 
‘Ky;iyg; nghpahW FbePh; jpl;lk;’ gw;wpa gpd;tUk; $w;Wfis ftdpf;f. 
1. Nyhah; Nfk;g; Kjy; kJiu khefh; tiu Foha; ,izg;G Nghl ,J jpl;lkpl;Ls;sJ. 
2. ,jw;F xJf;fg;gl;l nkhj;j njhif & 1>900.86 Nfhb  
3. ,J kJiuapYs;s 100 thh;LfSf;Fk; FbePh; toq;Fk; 
4. 2023-f;Fs; ,j;jpl;lk; KbtilAk;. 
Nkw;fz;ltw;Ws; vJ/vit rhp? 
a. 1> 2 kw;Wk; 4 b. 1 kw;Wk; 2  c. 1> 2 kw;Wk; 3  d. 1> 3 kw;Wk; 4 
 
 
 

104. The Union cabinet approved the auction of 2,251 megahertz of spectrum with a reserve price of  
a. Rs. 3.94 lakh crore   b. Rs. 3.96 lakh crore 
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c. Rs. 3.92 lakh crore   d. Rs. 3.98 lakh crore 
________ Fiwe;jgl;r tpiyAld; 2>251 nkfhn`h;l;]; ];ngf;l;uk; Vyj;jpw;F kj;jpa mikr;rfk; 
xg;Gjy; mspj;Js;sJ 
a. &.3.94 yl;rk; Nfhb   b. &.3.96 yl;rk; Nfhb 
c. &.3.92 yl;rk; Nfhb   d. &.3.98 yl;rk; Nfhb 
 

105. Consider the following 
1. KAPILA is an acronym for Kalam Program for IP (Intellectual Property) Literacy and Awareness 

launched ministry of Education 
2. The India Innovation Index 2019 which was released by the NITI Aayog 
3. India is at the 48th position in the list of top 50 innovative countries. 
a. 1, 3 correct  b. 2, 3 correct  c. 3 only correct d. All are correct 
gpd;tUtdtw;iw Ma;f 
1. KAPILA vd;gJ fy;tp mikr;rfk; njhlq;fpa fy;tp kw;Wk; tpopg;Gzh;T mwpTrhh; nrhj;J fyhk; 

jpl;lj;jpd; RUf;fkhFk; 
2. epjp MNahf; ,e;jpah GJikf;FwpaPL 2019I ntspapl;Ls;sJ 
3. 50 GJikahd ehLfspy; ,e;jpah 48tJ ,lj;jpy; cs;sJ 
a. 1> 3 rhp    b. 2> 3 rhp  c. 3 kl;Lk; rhp  d. ,it midj;Jk; 
 

106. Consider the following  
1. Lahore ranks the most polluted city in world according to air pollution data released US Air 

Policy Index 
2. New Delhi came in second while Kathmandu ranked third worst city 
a. 1 only correct  b. 2 only correct 
c. Both are correct  d. Both are incorrect 
gpd;tUk; $w;Wfis Ma;f 
1. mnkhpf;fh fhw;W nfhs;if FwpaPl;by; ntspaplg;gl;l fhw;W khRghl;L jftypd;gb yh$h; 

cyfpNyNa mjpf khRgl;l efukhf cs;sJ. 
2. GJ jpy;yp ,uz;lhtJ ,lj;ijAk; fhj;kz;L %d;whtJ Nkhrkhd efuk; vd;w ,lj;ij 

gpbj;Js;sJ 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
 

107. Which among the following Himalayan range is most continuous and having permanent snow 
cover? 
a. Trans Himalaya  b. Greater Himalaya 
c. Purvanchal Himalaya d. Himachal Himalaya 
gpd;tUtdtw;Ws; kpfTk; neUq;fp mike;j kw;Wk; epue;ju gdpg;ghiwfis nfhz;Ls;s 
,kakiyj;njhlh; vJ? 
a. l;uhd;]; ,kakiy  b. ngUk; ,kakiy 
c. g+h;thQ;ry; ,kakiy d. ,khr;ry ,kakiy 
 

108. Arrange the following Himalayan peaks from north to South 
1. Makalu  2. Nanga Prabat 3. Nanda Devi  4. Namacha Barwa 

 a. 1, 2, 3, 4  b. 1, 4, 2, 3  c. 2, 3, 4, 1  d. 2, 1, 3, 4 
gpd;tUk; ,kakiy rpfuq;fis tlf;fpypUe;J njw;fhf thpirg;gLj;Jf 
1. kf;fhY  2. eq;f gpughj;  3. ee;jh Njtp  4. ekr;r gh;th 
a. 1, 2, 3, 4  b. 1, 4, 2, 3  c. 2, 3, 4, 1  d. 2, 1, 3, 4 
 

109. Which among the following statement is incorrect? 
a. India has the second largest road network in the world 
b. World’s highest road is located in India 
c. Manipur has no rail network 
d. India has the second largest rail network in the world 
jtwhd $w;iwf; fz;lwpf 
a. ,e;jpah cyfpd; ,uz;lhtJ rhiy Nghf;Ftuj;ij nfhz;Ls;sJ 
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b. cyfpd; kpf caukhd rhiy ,e;jpahtpy; mike;Js;sJ 
c. kzpg;g+h; khepyj;jpy; ,uapy; Nghf;Ftuj;J ,y;iy 
d. ,e;jpah cyfpd; ,uz;lhtJ nghpa ,uapy; Nghf;Ftuj;ij nfhz;Ls;sJ 

 
110. Find the incorrect pair 

a. Island waterway authority of India    - 1986 
b. Airport Authority of India    - 1995 
c. National Highway Authority of India   - 1995 
d. AIR renames as Akashavani    - 1955 
jtwhd ,iziaf; fhz;f 
a. ,e;jpa cs;ehl;L ePh;to Nghf;Ftuj;J Mizak;  - 1986 
b. ,e;jpa tpkhd epiyaq;fs; Mizak;   - 1995 
c. ,e;jpa Njrpa neLQ;rhiyfs; Mizak;  - 1995 
d. AIR Mfhrthdp vd ngah; khw;wk;   - 1955 

 
111. As per 2011 census the percentage of population involved in migration is? 

a. 37%  b. 48.4%  c. 39%  d. 39.79% 
2011 kf;fs;njhif fzf;nfLg;gpd;gb ,e;jpahtpy; ,lk;ngaUk; kf;fspd; rjtPjk;? 
a. 37%  b. 48.4%  c. 39%  d. 39.79% 
 

112. “Yukaghir” is belong to which linguistic phylum? 
a. Afro – Asiatic   b. Ural – Altaic 
c. African    d. Palaeo Asiatic 
a+fhfph; vd;gJ gpd;tUk; ve;j nkhop njhFjpiar; rhh;e;jJ? 
a. Mg;Nuh – Mrpahbf;  b. cuy; - my;lha;f; 
c. Mg;gphpf;fd;    d. ghypNah Mrpahbf; 
 

113. Who established a number of female schools in Poona? 
a. Jotiba Pule   b. Dr. Atmaram 
c. D.K. Karve   d. Perozshah Mehta 
G+dhtpy; ngz;fSf;fhd gs;spfis epWtpatu; ahu;? 
a. N[hjpghGNy  b. lhf;lu;. Mj;kuhk; 
c. D.K. fhu;t;   d. ngNuh~h Nkj;jh 

 
114. Earliest Champion of Women Emancipation in south India. 

a. Periyar   b. Dr. Muthu Lakshmi 
c. Verasalingam pantalu       d. Dr.S. Dharmambal 
njd;dpe;jpahtpy; ngz;fs; Kd;Ndw;wj;jpw;fhd Kd;Ndhbahf tpsq;fpatu;? 
a. ngupahu;   b. lhf;lu;. Kj;Jyl;Rkp 
c. tPuNrypq;fk; ge;jY  d. lhf;lu;.S. ju;khk;ghs; 

 
115. What was the immediate cause for the launch of the Swadeshi Movement? 

a. The Partition of Bengal done by Lord Curzon 
b. A sentence of 18 months rigorous imprisonment imposed on Lokmanya Tilak. 
c. The arrest and deportation of Lala Lajat Rai and Ajit Singh; and passing of the Punjab 

Colonisation Bill 
d. Death sentence pronounced on the Chapekar brothers 
RNjrp ,af;fk; Njhd;w cldbf; fhuzkhf jpfo;tJ vJ? 
a. fh;]d; gpuGthy; Vw;gLj;jg;gl;l tq;f gphptpid 
b. Nyhfkhd;a jpyfUf;F toq;fg;gl;l 18 khj fLikahd rpiw jz;lid  
c. yhyh y[;gj;uha; kw;Wk; m[pj; rpq;if ifJ nra;J ehL flj;jpaJ kw;Wk; gQ;rhg; FbNaw;w 

kNrhjhit epiwNtw;wpaJ. 
d. Rhg;ngf;fh; rNfhjuh;fSf;F toq;fg;gl;l kuzjz;lid. 
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116. A sphere, a cylinder and a cone are of the same radius, where as the height of cone and cylinder are 
equal to radius. Find the ratio of their curved surface areas.  

a. 2: 2 2:1   b. 1: 2: 2 2   c. 1:2: 2 2   d. 2 2 : 2 : 1  
xU Nfhsk; cUis kw;Wk; $k;G Mfpatw;wpd; Muq;fs; rkk;. $k;G kw;Wk; cUisapd; cauq;fs; 
Muj;jpw;Fr; rkk; vdpy;> mtw;wpd; tisg;gug;Gfspd; tpfpjk;.  

a. 2: 2 2:1   b. 1: 2: 2 2   c. 1:2: 2 2   d. 2 2 : 2 : 1  
 

117. Find the mean and variance of first 13 natural numbers  
a. 7, 14   b. 7, 10.5  c. 7, 21  d. 7, 17.5  
Kjy; 13 ,ay; vz;fspd; ruhrhp kw;Wk; tpyf;fth;f;fr; ruhrhp fhz;f.  
 a. 7, 14  b. 7, 10.5  c. 7, 21  d. 7, 17.5  

 
118. Akshaya has 2 rupee coins and 5 rupee coins in her purse. If in all she has 80 coins totalling ₹ 220, 

how many 2 rupee coins does she have? 
a. 60   b. 20   c. 40   d. 10  
mf;~ah jdJ gzg;igapy; (purse) ,uz;L &gha; ehzaq;fisAk;> Ie;J &gha; ehzaq;fisAk; 
itj;jpUe;jhs;. mts; nkhj;jkhf & 220 kjpg;Gila 80 ehzaq;fis itj;jpUe;jhs; vdpy;> mtsplk; 
,Ue;j 2 &gha; ehzaq;fspd; vz;zpf;if vt;tsT?  
a. 60   b. 20   c. 40   d. 10  

 
119.  The dimensions of  a sweet box are 22 cm 18 cm 10 cm. How many such boxes can be packed in a 

carton of dimensions 1m × 88 cm × 63 cm.  
a. 360    b. 280   c. 320   d. 140  
Xh; ,dpg;Gfs; itf;Fk; ngl;bahdJ 22 nr.kP × 18 nr.kP × 10 nr.kP vd;w mstpy; cs;sJ. ,jid 1 
kP × 88 nr.kP × 63 nr.kP msTs;s Xh; ml;ilg;ngl;bapy; vj;jid mLf;fyhk;?  
a. 360    b. 280   c. 320   d. 140  

 
120. If + stands for ×, - stands for ÷, ×stands for – and ÷ stands for + there 25 + 32 – 4 × 12 ÷ 3  

a. 137   b. -125  c. 191  d. -197  
+ vd;gJ × y; iaAk;> - vd;gJ ÷ IAk;> × vd;gJ – iaAk; kw;Wk; ÷ vd;gJ    
+ iaAk; Fwpj;jhy; 25 + 32 – 4 × 12 ÷ 3 d; kjpg;G?  
a. 137   b. -125  c. 191  d. -197  

 
121. With reference to the period of colonial rule in India, ‘Home Charges’ formed an important part of 

drain of wealth from India. Which of the following funds constituted ‘Home Charges’? 
1. Funds used to support the Indian office in London. 
2. Funds used to pay salaries and pensions of British personnel engaged in India. 
3. Funds used for waging wars outside India by the British. 
Which of the statement(s) given above is/ are correct? 
a. Only 1  b. 1 and 2  c. 2 and 3  d. 1, 2 and 3 
,e;jpahtpy; fhydp Ml;rpapd;NghJ tPl;L fl;lzk; Kf;fpakhd tUthaf ,e;jpahtpypUe;J 
vLf;fg;gl;lJ fPo;f;fz;l njhifapy; vJ tPl;L fl;lzkhf fUjg;gl;lJ. 
1. yz;ldpy; ,e;jpa mYtyfj;ij elj;Jtjw;fhf nrYj;jg;gLk; fl;lzk;. 
2. Cjpaj;jpw;fhf nrYj;jg;gLk; njhif kw;Wk; ,e;jpahtpy; gzpahw;wp Mq;fpNyah;fSf;F 

toq;fg;gLk; Xa;T+jpak;. 
3. Mq;fpNyah;fs; ,e;jpahtpw;F ntspNa elj;jg;gLk; NghUf;fhf MFk; nryT. 
fPo;f;fz;l fUj;Jf;fspy; vJ my;yJ vitfs; rhpahdJ. 
a. 1 kl;Lk;  b. 1 kw;Wk; 2 c. 2 kw;Wk; 3  d. Nkw;fz;l midj;Jk; 

 
122. Early Chola’s Temple Architecture was based on 

a. Nandivarman Style  b. Mahendravarman Style 
c. Narashimavarman Style d. Sembiyan Magadevi Style 
Kw;fhyr; Nrhou;fspd; Nfhtpy; fl;llf;fiy vg;ghzpia gpd;gw;wp mike;jjhFk; 
a. ee;jptu;kd; ghzp  b. kNfe;jputu;kd; ghzp 
c. eurpk;ktu;kd; ghzp  d. nrk;gpad; kfhNjtp ghzp 
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123. Who told Musiri was India’s First Perangadi? 
a. Marco polo   b. Aurelian   c. Augustus  d. Piliny   
Krpwpia “,e;jpahtpd; Kjy; Nguq;fhb’ vd Fwpg;gpl;ltu; 
a. khh;NfhNghNyh  b. Mupypad;  c. mf];l];  d. %j;j gpspdp 

 
124. Name the king who won the war against Chera, Chola and Five Velirs of Chieftains confederacy? 

a. Mudhukudimi Peruvazhudhi  b. Neduchezhiyan 
c. Karaikal Chola    d. Narashimavarman I 
Nruu;> Nrhou; Ie;J Ntspu; Fy rpw;wuru;fs; MfpNahupd; $l;Lg; gilfis ntw;wp nfhz;ltu; 
a. KJFLkpg; ngUtOjp   b. neLQ;nropad; 
c. fupfhy;Nrhod;    d. Kjyhk; eurpk;ktu;kd; 

 
125. Match the following 

Place    Nature of Site 
A. Keeladi   1. Later Palaeolithic 
B. Pattaraiperumbudur 2. Early Historic 
C. Ukkirankottai  3. Modern 
E. Alambarai   4. Medieval 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 3 4 
d. 2 1 4 3 
nghUj;Jf 
,lk;    ,lj;jpd; tifghL 
A. fPob   1. filf; fw;fhyk; 
B. gl;liungUk;GJ}h;  2. njhlf;ff; tuyhw;W fhyk; 
C. cf;fpud;Nfhl;il  3. etPdfhyk; 
D. Myk;giu   4. ,ilf;fhyk; 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 3 4 
d. 2 1 4 3 

 

126. Match the following 
Chapter No.  Title 
mjpfhu vz;  jiyg;G 
A. 13   1. Duty to Society / xg;Gutwpjy;  
B. 22   2. Possession of Self-restraint / mlf;fKilik 
C. 24   3. Penance / jtk;   
D. 27   4. Renown / Gfo; 
 A B C D  
a. 2 1 4 3 
b. 2 1 3 4 
c. 2 4 1 3 
d. 4 3 2 1 

 

127. Death is sinking into slumbers deep; 
Birth again is waking out of sleep. 
The Kural given above comes under which chapter? 
a. Fate  b. Corbing greed c. Renunciation  d. Instability 
cwq;F tJNghYk; rhf;fhL cwq;fp  
tpopg;gJ NghYk; gpwg;G 
vd;w Fws; ,lk;ngWk; mjpfhuk; vJ? 
a. tpjp  b. mth mWj;jy; c. JwT   d. epiyahik 
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128. Assistance given by those who ne'er received our aid, 
Is debt by gift of ________ 
a. Heaven and Earth   b. Health and Wealth 
c. Wealth and Fame   d. Health and Fame 
nra;ahky; nra;j cjtpf;F vJ <lhfhJ? 
a. thdfKk; itafKk;  b. eyKk; tsKk; 
c. tsKk; GfOk;   d. eyKk; GfOk; 

 
129. Seek'st thou honour never tarnished to retain; 

So must thou ______________, guarding evermore, maintain 
a. Possession of Decorum  b. Patience 
c. Possession of Self-restraint d. Possession of Love 
epiwAilik ePq;fhik Ntz;bd; ________ 
Nghw;wp xOfg; gLk; 
a. xOf;fKilik   b. nghiwAilik 
c. mlf;fKilik   d. md;Gilik 

 
130. WHO was honoured with Tamil Nadu CM's special award in combating the COVID-19 pandemic in 

the state. 
a. Soumya Swaminathan b. Radhakrishnan c. T.N Health Department d. None 
jkpofj;jpy; COVID-19 xopg;gpw;fhf Kjy;tupd; rpwg;G tpUJ ngw;wtu;  
a. nrskpah rhkpehjd;; b. uhjhfpU~;zd; c. khepy eytho;T Jiw d. vJTkpy;iy  

 
131. Of greatness and of meanness too, 

The deeds of each are touchstone true. 
Mention the figure of speech used in this couplet 
a. Uruvaga Ani   b. Aegadesa Uruvaga Ani 
c. Eduthukattu Uvamai Ani  d. Piridhumozhidhal Ani 
ngUikf;Fk; Vidr; rpWikf;Fk; jj;jk; 
fUkNk fl;lisf; fy; - ,f;Fwspy; gapd;W tUk; mzp 
a. cUtf mzp   b. VfNjr cUtf mzp 
c. v.fh. ctikazp   d. gpwpJnkhopjy; mzp  

 
132. Men who have no regrets and with noble virtues  

Who exert their power, not for themselves but for others 
These lines are found in ______ 
a. Thirukural  b. Naladiyar  c. Purananooru d. Agananooru 
jkf;nfd Kayh Nehd;jhs; 
gpwh;f;nfd KaYeh; cz;ik ahNd 
vd;w ghly; ,lk;ngWk; E}y; vJ? 
a. jpUf;Fws;  b. ehybahh;  c. GwehD}W  d. mfehD}W 

 
133. Which of the following are found in extreme saline conditions? 

a. Archaebacteria   b. Eubacteria  
c. Cyanobacteria   d. Mycobacteria 
fPo;f;fz;ltw;Ws; mjPj cg;Gr; nrwpT cs;s #oypy; fhzg;gLgit vit? 
a. Mh;f;fp ghf;Bhpah  b. a+ ghf;Bhpah 
c. raNdh ghf;Bhpah  d. ikf;Nfhghf;Bhpah 

 
134. Who invented electron microscope?   

a. Janssen    b. Edison  
c. Knoll and Ruska   d. Landsteiner 
kpd;dZ Ez;Nzhf;fpia fz;Lgpbj;jth; 
a. N[d;nrd;   b. vbrd;  
c. ehy; kw;Wk; u];fh  d. Nyz;l;];nla;dh; 
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135. Match the following 

A. Article 315  1. Removal & Suspension of the member 
B. Article 316  2. Functions of Public Service Commissions 
C. Article 317  3. Public Service Commission for Union and for the States 
D. Article 320  4. Appointment & Term of Office of member 
 A B C D 
a. 1 2 3 4  
b. 4 2 1 3 
c. 3 4 1 2 
d. 2 3 4 1 
nghUj;Jf 
A. tpjp – 315  1. cWg;gpdiu ePf;Fjy;> ,ilePf;fk; nra;jy; 
B. tpjp – 316  2. gzpahsu; Nju;thizaj;jpd; gzpfs; 
C. tpjp – 317  3. kj;jpa kw;Wk; khepy gzpahsh; Njh;thizak;  
D. tpjp – 320  4. cWg;gpdu; epakdk; kw;Wk; gjtpf;fhyk; 
 A B C D 
a. 1 2 3 4  
b. 4 2 1 3 
c. 3 4 1 2 
d. 2 3 4 1 

 
136. Which of the following parties were established by Dr. BR Ambedkar? 

1. The Peasants and Workers Party of India. 
2. All India Scheduled Castes Federation. 
3. The Independent Labour Party 
Select the correct answer using the codes given below 
a. Only 1  b. 2 and 3  c. 1 and 3  d. 1, 2 and 3 
Dr. B.R. mk;Ngj;fu; mth;fshy; fPo;f;fz;l fl;rpfs; cUthf;fg;gl;ld. 
1. ,e;jpa tptrhapfs; kw;Wk; ciog;ghsh;fs; fl;rp 
2. mfpy ,e;jpa ml;ltiz gphptpdh; $l;likg;G 
3. Rje;jpu njhopyhsh; fl;rp  
fPo;f;fz;l FwpaPl;bid gad;gLj;jp rhpahd gjpiy Njh;T nra;f. 
a. 1 kl;Lk;     b. 2 kw;Wk; 3  
c. 1 kw;Wk; 3     d. Nkw;fz;l midj;Jk; 

 
137. With reference to Congress Socialist Party, consider the following statements: 

1. It advocated the boycott of British goods and evasion of taxes 
2. It wanted to establish the dictatorship of Proletariat 
3. It advocated separate electorate for minorities and oppressed classes. 
Which of the statement(s) given above is/ are correct? 
a. 1 and 2  b. Only 3  c. 1, 2 and 3  d. None of these 
fhq;fpu]; Nrhryp];l; fl;rp gw;wpa fPo;f;fz;l fUj;ij ftdp. 
1. ,J Mq;fpNya nghUl;fis Gwf;fzpf;fTk;> thp nfhlhikiaAk; typAWj;jpaJ. 
2. njhopyhsh;fspd; Mjpf;fj;ij Vw;gLj;j tpUk;gpaJ. 
3. xLf;fg;gl;l kf;fSf;Fk; rpWghd;ikapdUf;F jdpj;njhFjp xJf;f typAWj;jpaJ. 
Nkw;fz;l fUj;Jf;fspy; vJ my;yJ vitfs; rhpahdJ 
a. 1 kw;Wk; 2      b. 1 kl;Lk; 
c. Nkw;fz;l midj;Jk;    d. vJTkpy;iy  

 
138. Which Fort of Puli Thevar came under control of Yusuf Khan on May 16, 1761? 

a. Panayur  b. Nerkattumseval c. Vasudevanallur d. All the above 
16 Nk> 1761y; Gypj;Njthpd; ve;jf; Nfhl;il / Nfhl;ilfs; A+Rg; fhdpd; fl;Lg;ghl;bd; fPo; te;jJ? 
a. gidA+h;  b. new;fl;Lk; Nrty; c. thRNjtey;Y}h; d. Nkw;fz;l midj;Jk; 
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139. Consider the statements about “Rosaappu Durai”. 

1. He helped Harvey mill workers to set up Madurai Labour union. 
2. He led the Vaikom Satyagraha in Kerala. 
3. He agitated against the Criminal Tribes Act 
4. When Kamaraj was implicated in Virudhunagar conspiracy case (1933) George Joseph and 

Varadarajulu succeeded in exonerating him of all charges. 
a. 1, 3, 4 correct b. 1, 2, 4 correct c. 2, 3 correct  d. All are correct 
“Nuhrhg;g+ Jiu” gw;wpa gpd;tUk; $w;Wfis ftdp 
1. ,th; “kJiu njhopyhsh; rq;fj;ij” mikf;f `hh;tp kpy; gzpahsh;fSf;F cjtpdhh; 
2. ,th; Nfushtpy; itf;fk; rj;jpafpufj;jpw;F jiyik jhq;fpdhh; 
3. ,th; Fw;wg;guk;giu rl;lj;ij vjph;j;J ntw;wp fz;lhh; 
4. tpUJefh; rjp tof;fpy; fhkuh[h; tpLjiy ngw [hh;[; N[hrg; kw;Wk; tujuh[{Y fhuzkhf 

,Ue;jdh; 
a. 1, 3, 4 rhp  b. 1, 2, 4 rhp  c. 2, 3 rhp  d. midj;Jk; rhp 

 
140. To whom all living things will worship? 

a. One who speaks truth and  righteous  
b. One who abjure violence and harm 
c. One who abstains from killing and meat eating 
d. One who worship god and all living creatures  
vy;yh caph;fSk; ahiuj; njhOk;? 
a. tha;ikNahLk; Neh;ikNahLk; tho;gtiu 
b. ,d;dh nra;ahNjhiu 
c. gpw caph;fis nfhy;yhjtiu kw;Wk; Gyhy; kWj;Njhiu 
d. ,iwtidAk; gpw caphpdq;fisAk; njhONthiu 

 
141. Who was the first Dalit Chief Minister of any state in India? 

a. Babu Jegajeevan Ram  b. Mayavathi 
c. Damodaram Sanjivayya  d. Sushilkumar Shinde 
,e;jpahtpy; cs;s khepyq;fspy; Kjy; jyPj; Kjy;tu; ahu;? 
a. ghG n[f[Ptd; uhk;   b. khahtjp 
c. jhNkhjuk; rQ;rPta;ah  d. Rrpy;Fkhu; rpz;Nl 

 
142. Which one of the following not comes under GST? 

a. Milk Powder b. Medicine  c. Mineral Water d. Air Fuel 
gpd;tUtdtw;Ws; vJ GST ,d; fPo; tuhJ? 
a. ghy; gTlu;  b. kUe;Jfs;  c. kpduy; ePu;  d. tpkhd vhpnghUs; 

 
143. Consider the following Statement is/are correct. 

1. Periyar organised the Dravida Nadu Conference in 1939 and demanded the separate Independent 
Dravida Nadu with a slogan Tamilnadu for Tamilians 

2. Rajaji supporters C. Subramaniam and Bhaktavatsalam supported the demand of Dravidanadu. 
3. Rajaji raised the concept of Dakshina Pradesh at Amristar Congress Conference in 1956. 
4. The struggle for Dravida Nadu could not get the support outside the Tamil speaking territory. 
a. 1, 2, 3   b. 1, 3, 4  c. 1, 2, 4   d. All of these 
gpd;tUk; $w;wfSs; vJ/vit rup. 
1. nghpahh; 1939Mk; Mz;L jpuhtpl ehL khehl;ilf; $l;b jkpo;ehL jkpoh;fSf;Nf vd mwptpj;jhh;. 
2. jpuhtpl ehL nfhs;iff;F C. Rg;gpukzpak; kw;Wk; gf;jtr;ryk; Nghd;w ,uh[h[p Mjuthsh;fSk; 

Mjutspj;jdh;. 
3. ,uh[h[p 1956,y; mkph;jru]; fhq;fpu]; khehl;by; jf;rpz gpuNjrk; vd;w nfhs;ifia 

Kd;ndLj;jhh; 
4. jpuhtpl ehL nfhs;iff;F jkpo; nkhop NgRk; epyg;gug;ig jtpu NtW vq;Fk; MjuT fpilf;ftpy;iy 
a. 1> 2> 3  b. 1> 3> 4 c. 1> 2> 4  d. ,it midj;Jk; 
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144. The complete set of chromosome inherited as a single unit from one parent is known as  
a. Genome    b. Linkage   c. Gene pool   d. Genotype 
FNuhNkhNrhkpd; KO njhFjp xNu myfhf xU ngw;NwhhplkpUe;J ghuk;ghpakhjy; vd;gJ 
a. kugZj; njhifak;  b. gpizg;G  c. kugZ Fsk; d. kugZtifak; 

 
145. Which country has the greatest contribution for the hole formation in ozone layer?  

a. Russia   b. Iceland  c. USA   d. Canada 
XNrhd; mLf;fpy; Jis cUthtjw;fhd kpfg;nghpa gq;fspg;G ehL vJ? 
a. u~;ah  b. I];yhe;J  c. mnkhpf;fh  d. fdlh 

 
146. Consider the following statements 

I. ELCOT established in 1977 
II. TACTV established in 2007. 
III. ELCOT implementing e-Governance since 1996 
IV. TNeGA is a State Nodal Agency for e-Governance 
a. I and IV are correct   b. I, III and IV are correct  
c. I, II and IV are correct  d. All are correct 
gpd;tUk; $w;Wfis Ma;f. 
I. ELCOT 1997y; njhlq;fg;gl;lJ. 
II. TACTV 2007 –y; njhlq;fg;gl;lJ. 
III. ELCOT MdJ 1996 Kjy; kpd; MSifia nray;gLj;jp tUfpwJ. 
IV. TNeGA vd;gJ kpd; MSiff;fhd khepy KfikahFk;. 
a. I, IV rhp  b. I, III, IV rhp  c. I, II, IV rhp  d. midj;Jk; rhp 

 
147. Which Tamil nadu Government department received National Gold Award for e-Governance twice? 

a. Revenue department  b. Registration department 
c. Agricultural department  d. Public department 
jkpo;ehL muR ve;j Jiwf;fhf ,uz;Lk; Kiw kpd; MSiff;fhd Njrpa jq;f tpUij ngw;Ws;sJ? 
a. tUtha;j; Jiw   b. gjpTj; Jiw 
c. Ntshz;ikj; Jiw   d. nghJj;Jiw 

 
148. National e-Governance plan formulated in  

a. 2004  b. 2005  c. 2006  d. 2007 
Njrpa kpd; MSifj; jpl;lk; vg;NghJ tbtikf;fg;gl;lJ? 
a. 2004  b. 2005  c. 2006  d. 2007 

 
149. Which scheme is forerunner of all Girl Child schemes in India and World 

a. Sukanya Samrithi   
b. Magalir Thittam 
c. Girl Child Protection Scheme 
d. Beti Bacho Beti Padho 
,e;jpah kw;Wk; cyfshtpNyNa midj;J ngz; Foe;ijfs; jpl;lj;jpw;Fk; Kd;Ndhbj; jpl;lk; vJ? 
a. Rfd;ah rk;hpjp    
b. kfsph; jpl;lk; 
c. ngz; Foe;ij ghJfhg;G jpl;lk; 
d. Ngl;b gr;Nrh Ngl;b gNjh 
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150. Match the following 
Marriage Assistance Scheme    Beneficiary  
A. Moovalur Ramamirtham Ammaiyar  1. Inter-Caste Marriage 
B. Dharmambal     2. Orphan Girls 
C. E.V.R. Maniyammai    3. Daughter of Poor Widows 
D. Annai Teresa     4. Widow Remarriage 
E. Muthulakshmi Reddy    5. Poor Girl 

A B C D E 
a. 1 2 3 4 5 
b. 5 3 4 2 1 
c. 5 4 3 2 1 
d. 4 1 2 5 3 
nghUj;Jf. 
jpUkz cjtpj; jpl;lk;   ed;ikfs; 
A. %tY}h; uhkhkph;jk; mk;ikahh;  1. fyg;Gj; jpUkzk; 
B. jh;khk;ghs;     2. mdhij ngz;fs; 
C. E.V.R kzpak;ik    3. Vio tpjitfspd; kfs; 
D. md;id njurh    4. tpjit kWkzk; 
E. Kj;Jyl;Rkp nul;b    5. Vio ngz;fs; 

A B C D E 
a. 1 2 3 4 5 
b. 5 3 4 2 1 
c. 5 4 3 2 1 
d. 4 1 2 5 3 

 
151. Choose the correct statements 

1. In 2020, Financial Assistance under Muthulakshmi Reddy Maternity benefit scheme is 18,000 
2. Monthly assistance to senior citizen under Old Age Pension Scheme in Tamil Nadu is Rs.1000 
a. 1 only  b. 2 only  c. Both   d. None 
rhpahd $w;Wfis fz;lwpf 
1. 2020 ,y; Kj;Jyl;Rkp nul;b kfg;NgW eyj; jpl;lj;jpy; fpilf;Fk; epjp cjtp &.18>000 MFk;. 
2. KjpNahh; Xa;T+jpaj; jpl;lj;jpd; %yk; Kjpath;fSf;F jkpo;ehl;by; fpilf;Fk; khjhe;ju cjtpj; 

njhif &.1000 MFk; 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. ,uz;Lk;  d. ,uz;Lky;y 

 
152. Choose incorrect pair. 

a. 1925, Justice Party   - Mid day Meal Scheme 
b. 1956, INC   - Noon Meal  Scheme  
c. 1982, AIADMK  - MGR Nutritution Meal Programme  
d. 2012 AIADMK  - Amma Unavagam 
jtwhd ,iziaj; Njh;e;njL. 
a. 1925> ePjpf;fl;rp  -  kjpa czTj; jpl;lk; 
b. 1956> INC   - kjpa czTj; jpl;lk;  
c. 1982> m,mjpKf  - MGR rj;JzTj; jpl;lk;  
d. 2012> m,mjpKf  - mk;kh cztfk;  

 
153. Consider the following statements regarding TNCDW 

I. TNCDW – Tamil Nadu corporation for Development of Women was established in 1983. 
II. TNCDW Implements Mahalir Thittam and Rural Livelihood Mission 
III. TNCDW also implements Amma two-wheeler scheme 
a. I only correct   b. I and II are correct  
c. All are correct   d. All are wrong 
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TNCDW njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. TNCDW jkpo;ehL ngz;fs; Nkk;ghl;L fofk; 1983 ,y; njhlq;fg;gl;lJ. 
II. kfsph; jpl;lk; kw;Wk; fpuhkg;Gw tho;thjhu jpl;lk; Mfpatw;iw nray;gLj;jpaJ. 
III. TNCDW mk;kh ,U rf;fu thfd jpl;lj;ijAk; nray;gLj;JfpwJ. 
a. I kl;Lk; rhp    b. I, II rhp 
c. midj;Jk; rhp   d. midj;Jk; jtW 

 
154. The only scheme of Tamil Nadu Government which provides marriage assistance to Men is 

a. Uzhavar Pathukappu Thittam 
b. THAI Thittam 
c. Anna Marumalarchi Thittam 
d. Vaazhnthu Kaatuvom Thittam 
jkpof murhy; Mz;fSf;nfd nray;gLj;jg;gLk; xNu xU epjpAjtpj; jpl;lk; (jpUkzk;). 
a. coth; ghJfhg;G jpl;lk; 
b. jha; jpl;lk; 
c. mz;zh kWkyh;r;rp jpl;lk; 
d. tho;e;J fhl;LNthk; jpl;lk; 

 
155. Find out the incorrect pair  

a. ICPS – 2009 
b. ICDS - 1975 
c. Ayushman Bharat - 2018 
d. National Health Mission - 2006 
jtwhd ,iziaf; fhz;f 
a. ICPS – 2009 
b. ICDS – 1975 
c. MA~;khd; ghuj; - 2018 
d. Njrpa Rfhjhuj; jpl;lk; - 2006 
 

156. The cost price of 11 pens is equal to the selling price of 10 pens find loss  or gain percent.  

a. 10% loss   b. 10% gain c. 19
11

% loss  d. 19
11

% gain  

11 Ngdhf;fspd; thq;fpa tpiy 10 Ngdhf;fspd; tpw;w tpiyf;Fr; rkk; vdpy; Vw;gLk; ,yhgk; my;yJ 
e~;l rjtPjk; vt;tsT?  

a. 10% el;lk; b. 10% yhgk;  c. 19
11

%  el;lk;  d. 19
11

%yhgk;  

 
157. An alloy consists of 30% copper and 40% zinc, and the remaining nickel. Find the amount of nickel 

(kg) in 20 kilograms of the alloy.  
a. 6kg  b. 8kg  c. 12kg  d. 9kg 
xU cNyhf fyitapy; 30% nrk;Gk; 40% Jj;jehfKk; cs;sJ. kPjKs;stw;wpy; epf;fy; cs;sJ. 
20 fp.fp vilAs;s me;j cNyhf fyitapy; epf;fypd; vil vt;tsT (fpfp)  
a. 6kg  b. 8kg  c. 12kg  d. 9kg 

  
158. A principal becomes Rs. 2028 in 2 years at 4% P.A. compound interest find the principal.  

a. 1600   b. 1875  c. 1900  d. 2000 
xU mryhdJ 2 tUlj;jpy; 4% tl;b tPjj;jpy; $l;L tl;b Kiwapy; 2028 Mf fpilf;fpwJ vdpy; 
mry; vt;tsT?  
a. 1600   b. 1875  c. 1900  d. 2000 
 

159. The sum of two numbers is 36 and the one number exceeds by 8. find the numbers.  
a. 23, 13  b. 22, 14  c. 28, 8  d. 19, 17  
,U vz;fspd; $Ljy; 36. xU vz; MdJ kw;nwhU vz;iz tpl 8 mjpfk; vdpy; me;j vz;fs; 
vd;d?  
a. 23, 13  b. 22, 14  c. 28, 8  d. 19, 17  
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160. A works 3 times fast as B and is able to complete a task in 24 days less than the days taken by B. find 
the time in which they can complete the work together.  
a. 36 days   b. 12 days   c. 18 days   d. 9 days  
A vd;gth; B I tpl %d;W klq;F jpwikahdth;> A vd;gth; B I tpl xU Ntiyia Kbf;f 24 
ehl;fs; Fiwthf vLj;Jf; nfhs;thh;. vdpy; ,UtUk; Nrh;e;J mt;Ntiyia Kbf;f MFk; ehl;fspd; 
vz;zpf;if  
a. 36 ehl;fs;  b. 12 ehl;fs;  c. 18 ehl;fs;  d. 9 ehl;fs;  

 
161. Currently, Financial Assistance under chief Minister’s Solar powered Green Housing Scheme is  

a. 1.5 lakh  b. 1.8 lakh  c. 2.1 lakh  d. 2.5 lakh 
jw;NghJ Kjyikr;rhpd; #hpa rf;jp kpd;dhw;wYld; $ba gRik tPL jpl;lj;jpy; fpilf;Fk; epjp cjtp 
____. 
a. 1.5 ,yl;rk;  b. 1.8 ,yl;rk;  c. 2.1 ,yl;rk;  d. 2.5 ,yl;rk; 

 
162. Social Harmony can be achieved through 

I. Samathuvapuram   II. Mahalir Thittam 
III. Inter-Caste Marriage  IV. Public Transport 
a. I only correct   b. I and III are correct  
c. I, II and III are correct  d. All are correct 
r%f ey;ypzf;fj;ij milAk; top 
I. rkj;JtGuk;    II. kfsph; jpl;lk; 
III. fyg;G jpUkzk;   IV. nghJ Nghf;Ftuj;J 
a. I kl;Lk;  b. I, III rhp  c. I, II, III rhp   d. midj;Jk; 

 
163. Mangolism is a genetic disorder which is caused by the presence of an extra chromosome number  

a. 20    b. 21    c. 4   d. 23  
lTd;rpd;l;Nuhk; vdg;gLk; kq;Nfhyprk; vd;gJ xU kugpay; FiwghL MFk;. ,J ve;j FNuhNkhNrhkpd; 
vz;zpf;if $LJy; fhuzkhf Vw;gLfpwJ? 
a. 20    b. 21    c. 4   d. 23  

 
164. Which of the following is incorrect regarding ZW-ZZ type of sex determination?  

a. It occurs in birds and some reptiles  
b. Females are homogametic and males are heterogametic  
c. Male produce two types of gametes  
d. It occurs in gypsy moth  
ZW – ZZ tif ghy; eph;zaj;jpy; fPo;fz;litfspy; jtwhdJ vJ? 
a. gwit kw;Wk; rpy Ch;tdtw;wpy; fhzg;gLfpwJ. 
b. ngz;fs; xj;japdr;nry;iyAk; kw;Wk; Mz;fs; NtWgl;l ,dr;nry;iyAk; nfhz;Ls;sdh; 
c. Mz;fs; xj;japdr;nry;iy cw;gj;jp nra;fpd;wdh; 
d. ,it [pg;rp me;jp g+r;rpapy; fhzg;gLfpd;wd. 

 

165. The total number of nitrogenous bases inhuman genome is estimated to be about 
a. 3.5 million  b. 35000 c. 35 million  d. 3.1 billion 
kdpj kugZj; njhFjpapy; cs;s nkhj;j iel;u[d; fhuq;fspd; vz;zpf;if Rkhh; 
a. 3.5 kpy;ypad; b. 35000 c. 35 kpy;ypad; d. 3.1 kpy;ypad; 

 

166. Consider the following statements. 
Assertion (A): Neo – Natal Mortality rate of Tamil Nadu is below 15 per 1000 live birth in a yea 
Reason(R): Government of Tamil Nadu implementing Amma Baby Care Kit Scheme, Janani  

Suraksha Yojana and JSSK successfully. 
Choose the correct option. 
a. Both (A) and (R) are true and (R)is correct explanation of (A)  
b. Both (A) and (R) are true but (R) is not correct explanation of (A) 
c. (A) is true but (R) is false 
d. Both (A) and (R) are false 
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gpd;tUk; $w;Wfis Ma;f. 
$w;W (A): jkpo;ehl;by; gr;rpsq; Foe;ijfs; ,wg;G tPjk; Mz;by; 1000 gpwg;Gf;F 15 f;Fk; Fiwthf 
cs;sJ. 
fhuzk; (R): jkpof murhdJ mk;kh Foe;ij guhkhpg;G gupR ngl;lfk;> [ddp Ruf;~h Nah[dh kw;Wk; 
JSSK it rpwg;ghf nray;gLj;JfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) MdJ (A) tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp MdhYk; (R) MdJ (A) tpw;F rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; jtW 

 
167. Consider the following statements regarding MMR 

I. Tamil Nadu MMR rate is below 60 
II. SDG – Target is to reduced MMR to 70 by 2030 
a. I only correct    b. II only correct   
c. Both I and II are correct   d. Both I and II are wrong 
MMR  njhlh;ghd gpd;tUk; $w;Wfis Ma;f. 
I. jkpo;ehl;by; MMR msT 60f;Fk; FiwT  
II. 2030 f;Fs; kfg;NgW ,wg;G tpfpjpj;ij 70 Mf Fiwg;gNj epiyahd ePbj;j tsh;r;rpapd; 

Nehf;fk; MFk;. – SDG 2030. 
a. I kl;Lk; rhp  b. II kl;Lk; rhp  c. I, II rhp d. I, II jtW 

 
168. Find out the incorrect statement regarding Dr. Muthulakshmi Reddy 

a. She founded Avvai Illam in 1929 
b. First woman legislator in British India 
c. First woman Deputy President of Legislative Council 
d. Founder president of Indian woman association 
lhf;lh;. Kj;Jnyl;Rkp njhlh;ghd jtwhd $w;iw fz;lwpf 
a. ,th; 1929Mk; Mz;L mt;it ,y;yj;ij Njhw;Wtpj;jhh; 
b. gphpl;b~; ,e;jpahtpd; Kjy; ngz; rl;lkd;w cWg;gpdh; 
c. rl;l Nkyitapd; Kjy; ngz; Jiz jiyth; 
d. ,e;jpa ngz;fs; mikg;ig Njhw;Wtpj;J mjd; Kjy; jiytuhf ,Ue;jth; 

 
169. Who was the founder chairman of Central Social Welfare Board? 

a. Dr. Muthulakshmi Reddy  b. Durgabai Deshmukh 
c. Padmaja Naidu   d. Rani Sivagami 
kj;jpa r%f ey thhpaj;ij Njhw;Wtpj;J mjd; jiytuhf ,Ue;jth; ahh;? 
a. lhf;lh;. Kj;Jyl;Rkp nul;b  b. Jh;fhgha; Nj~;Kf; 
c. gj;k[h ehAL   d. uhzp rptfhkp 

 
170. The Gross Domestic product per capita of Tamil Nadu in the year 2015-16 is 

a. Rs.99,482  b. Rs.1,43,547  c. Rs.2,40,320 d. Rs.1,20,245 
2015-16 Mk; Mz;by; jkpo; ehl;bd; jdpegh; tUkhdk; nkhj;j cs;ehl;L cw;gj;jpapy; & _____________ 
MFk;. 
a. &.99,482  b. &.1,43,547  c. &.2,40,320 d. &.1,20,245 

 
171. In 1999 the Tamilnadu government proposed to implement a special school health programme which 

mean light of life scheme referring to good health. What is the name of the scheme? 
a. Vazvoli Thittam   b. Amma Kalvi thittam  
c. Child care thittam   d. None of these 
1999 Mk; Mz;L jkpof murhdJ xU Gjpa jpl;lk; %yk; gs;sp khzth;fSf;F MNuhf;fpakhd 
tho;tspf;f jPh;khdpf;fg;gl;lJ mJ vd;d jpl;lk;?  
a. tho;nthsp jpl;lk;    b. mk;kh fy;tpj;jpl;lk;  
c. koiyf; Foe;ijfs; jpl;lk;  d. ,it VJkpy;iy 
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172. Which of the following is not an advantage of conceptual learning? 
a. Encourages understanding, not memorization  
b. Encourages active learning techniques 
c. Focuses on the outcome of the learning process and also relates new information to prior 

knowledge 
d. Develops an ability to quickly recall basic facts and helps to develop foundational knowledge 
gpd;tUtdtw;wpy; vJ fUj;Jtbt fw;wypd; gad;fspy; xd;wy;y? 
a. kddk; nra;ahkypUg;gijAk;> Ghpe;Jnfhs;siyAk; Cf;Ftpj;jy; 
b. gq;Nfw;G fw;wy; El;gq;fis Cf;Ftpj;jy; 
c. fw;wy; nray;Kiwapd; gydpy; ftdk; nrYj;JfpwJ NkYk; Gjpa jfty;fis Ke;ija 

mwpTld; xg;gpl;L ghh;f;fpwJ 
d. mbg;gil jfty;fis tpiuthf epidTgLj;Jk; jpwid cUthf;FfpwJ kw;Wk; mbg;gil 

mwptpid tsh;f;f cjTfpwJ 
 

173. Choose the incorrect statement. 
a. Scientific temper can be an antidote for superstitious beliefs prevalent in our society. 
b. Reasoning is a part of ‘scientific temper’, superstitious beliefs go against reasoning. 
c. The fundamental feature of scientific temper was ‘the spirit of enquiry and acceptance of the 

right to question and to be questioned’.  
d. The Indian National Science Congress 2019 annual session theme was ‘Fostering Scientific 

Temper’. 
jtwhd $w;wpid fz;lwpf 
a. tpQ;Qhd kdepiyahdJ ekJ r%fj;jpy; mjpfkhf epyTk; %lek;gpf;iffSf;F xU kUe;jhf 

,Uf;Fk; 
b. gFj;jwpT tpQ;Qhd kdepiyapd; xU gFjpahFk;> %lek;gpf;iffs; gFj;jwpTf;F vjpuhdjhFk;. 
c. tpQ;Qhd kdepiyapd; mbg;gil mk;rk; ‘tprhuiz kw;Wk; Nfs;tp Nfl;Fk; chpikia 

Vw;Wf;nfhs;tJ 
d. ,e;jpa Njrpa mwptpay; khehL 2019,d; ikaf;fU ‘mwptpay; kdepiyia tsh;j;jy;’ 

vd;gjhFk; 
 
174. Choose the correct statements regarding industrialization in Tamilnadu. 

1. Industries were concentrated in eastern part of state 
2. The entrepreneurs came from dispersed social background. 
3. The state has better mix of large, small and household industries. 
a. 1 and 2 only    b. 2 and 3 only 
c. 1 and 3 only    d. All the above 
jkpo;ehl;bd; njhopy;kakhf;fy; Fwpj;j rhpahd $w;Wfis fz;lwpf 
1. njhopw;rhiyfspd; khepyj;jpd; fpof;F gFjpapy; Ftpe;Js;sd 
2. njhopy;KidNthh; rpjwpa r%f gpd;dzpapy; ,Ue;J te;jth;fs; 
3. nghpa> rpW kw;Wk; tPl;L njhopy;fs; vd fyitia muR nfhz;Ls;sJ 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;   d. ,it midj;Jk; 

 
175. Match agencies that promote industrialization in state with their year of formation. 

njhopy;kakhf;fis Cf;Ftpf;Fk; Kfik kw;Wk; mtw;iw cUthf;fpa Mz;ilg; nghUj;Jf 
A. SIPCOT   1. 1949 
B. TANSIDCO   2. 1965 
C. TIDCO   3. 1965 
D. TIIC   4. 1970 
E. TANSI   5. 1971 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 5 4 3 1 2 
d. 1 2 4 3 5 
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176. Match following with correct options. 
A. Bauxite   1. Thoothukudi 
B. Lignite   2. Salem 
C. Molybdenum  3. Cuddalore 
D. Monazite   4. Dharmapuri 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 
nghUj;Jf 
A. ghf;irl;   1. J}j;Jf;Fb 
B. ypf;idl;   2. Nryk; 
C. khypg;bdk;   3. flY}h; 
D. NkhNdhirl;  4. jh;kGhp 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 

 
177. Communal G.O. of Justice party was passed on 

a. 16 July 1921   b. 16 September 1922 
c. 15 August 1922  d. 26 January 1922 
tFg;Gthj murhizia ePjpf;fl;rp ,aw;wpa Mz;L ______ 
a. 16 [{iy 1921  b. 16 nrg;lk;gh; 1922 
c. 15 Mf];l; 1922  d. 26 [dthp 1922 

  
178. Which of the following is component of political thought of Periyar? 

1. Nationalism is an unreal feeling 
2. Tamil Nationalism and race was misused for sustaining power. 
3. Language not to be misused as a weapon of separatism  
4. No language will be enforced under Dravida socialist Republic Rule 
a. 1, 4 only   b. 1,2 and 4 only   
c. 1, 2, 3 only   d. All the above 
gpd;tUtdtw;Ws; nghpahhpd; murpay; rpe;jidapd; $Wfs; vd;d? 
1. Njrpathjk; vd;gJ cz;ikaw;w czh;T. 
2. jkpo; Njrpathjk; kw;Wk; ,dk; mjpfhuj;ij jf;fitf;f jtwhfg; gad;gLj;jg;gLfpd;wd. 
3. gphptpid thjj;jpd; MAjkhf nkhop jtwhfg; gad;gLj;jf;$lhJ. 
4. jpuhtpl Nrhrpaypr FbauR Ml;rpapd; fPo; ve;j nkhopAk; jpzpf;fg;glhJ 
a. 1, 4 kl;Lk;   b. 1,2 & 4 kl;Lk;   
c. 1, 2, 3 kl;Lk;   d. Nkw;fz;l midj;Jk; 

 
179. The correct order in Era is  

a. Palaeozoic - Archaeozoic - Coenozoic  
b. Archaeozoic -Palaeozoic - Proterozoic  
c. Palaeozoic - Mesozoic - Coenozoic  
d. Mesozoic – Archaeozoic - Proterozoic  
ngUq;fhyq;fspd; rhpahd thpir 
a. NgypNahNrhapf; - Mh;f;fpNahNrhapf; - rPNdhNrhapf; 
b. Mh;f;fpNahNrhapf; - NgypNahNrhapf; - GNuhBNuhNrhapf;  
c. NgypNahNrhapf; - kPNrhNrhapf; - rPNdhNrhapf; 
d. kPNrhNrhapf; - Mh;f;fpNahNrhapf; - GNuhBNuhNrhapf; 
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180. Match the following: 
 A. Amoebiasis   1.Treptonema pallidum 
 B. Diphtheria    2. Use only sterilized food water 
 C. Cholera    3. DPT vaccine 
 D. Syphilis   4. Use oral rehydration therapy 
  A B C D 
 a. 1 2 3 4 
 b. 2 4 1 3 
 c. 2 1 3 4 
 d. 2 3 4 1 
 fPo;f;fz;ltw;iw nghUj;Jf: 
  gj;jp-1   gj;jp-2 
 A. mkPgpah]p];  1. bNuNghdPkh ghyplk; 
 B. bg;jPhpah   2. fpUkp ePf;fk; nra;ag;gl;l czT kw;Wk;  ePiug; gad;gLj;Jjy; 
 C. fhyuh    3. DPT jLg;G+rp  
 D. rp/gpyp];   4. tha;top jput kPl;ly; rpfpr;ir 
  A B C D 

a. 1 2 3 4 
b. 2 4 1 3 
c. 2 1 3 4 
d. 2 3 4 1 

 
181. An association of individuals of different species living in the same habitat and having functional 

interaction is:  
a. Biotic community    b. Ecosystem   
c. Population     d. Ecological niche  
NtWgl;l rpw;wpdq;fisr; Nrh;e;j caphpfs; $l;lkhf xNu thoplj;jpy; trpj;J  nray;epiy rhh;G 
,iltpidfisf; nfhz;bUe;jhy;> mJ> 
a. caphpa rKjhak;    b. #o;epiy kz;lyk; 
c. ,df;$l;lk;    d. #o;epiyr; rpW thoplk;. 

 
182. The highest number of species in the world is represented by  

a. Fungi   b. Mosses   c. Algae   d. Lichens 
,t;Tyfpy;> mjpf vz;zpf;ifapyhd rpw;wpdq;fisf; nfhz;l caphpdk;? 
a. G+Q;irfs;  b. nguzpfs;    c. ghrpfs;   d. iyf;fd;fs;. 

 
183. E.V.R Periyar passed a resolution regarding communal representation in education & employment in 

congress party conference held at 
a. Salem, 1925    b. Kancheepuram, 1925 
c. Kanyakumari, 1926   d. Tiruvannamalai, 1926 
<.Nt.uh nghpahh; vq;F eilngw;w fhq;fpu]; khehl;by; fy;tp kw;Wk; Ntiytha;g;gpy; tFg;Gthj 
gpujpepjpj;Jtk; Fwpj;j jPh;khdj;ij epiwNtw;wpdhh;? 
a. Nryk;> 1925    b. fhQ;rpGuk;> 1925 
c. fd;dpahFkhp> 1926   d. jpUtz;zhkiy> 1926 

 
184. Which British, a member of Governor General’s executive council submitted statistical details in 1913 

to prove Brahmins who form 3% of population cornered most opportunities. 
a. Tremancre    b. Thomas Munro  
c. Thomas pogge   d. Alexander cardew 
1913 Mk; Mz;bd; Gs;sptptuq;fs; gb> ve;j gphpl;b~; fth;dh; n[duypd; eph;thff; FOtpd; cWg;gpdh;;> 
3% kf;fs;njhif nfhz;l gpuhkzh;fis ep&gpf;f ngUk;ghyhd tha;g;Gfs; cs;sd vd;whh;? 
a. l;nukd;f;Nu    b. jhk]; Kd;Nwh 
c. jhk]; ghNg[;   d. mnyf;rhz;lh; fhh;l;a+ 

185. Choose the correct statements 
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1. School Bag Policy will help to reduce rote learning among students 
2. Learning among children has no correlation with the school bag. 
3. To enhance the creative skills of students, schools need to put more emphasis on ‘learning by 

doing’. 
a. 1, 2 only  b. 2 only c. 1 only  d. All of these 
rhpahd $w;Wfis fz;lwpf 
1. gs;spg; ig nfhs;ifahdJ khzth;fspilNa Ghpjy; ,d;wp gbj;jiy Fiwf;f cjTk; 
2. khzth;fspd; fw;wYf;Fk; gs;spg;igf;Fk; vt;tpj njhlh;Gk; ,y;iy 
3. khzth;fspd; gilg;Gj;jpwid Nkk;gLj;j gs;spfs; ‘nray;Kiw fw;wYf;F’ mjpf Kf;fpaj;Jtk; 

nfhLf;f Ntz;Lk; 
a. 1> 2 kl;Lk;  b. 2 kl;Lk; c. 1 kl;Lk;  d. ,it midj;Jk; 

 
186. Whose autobiography Jeeviya saritha surukkam was published in 1939? 

a. Ramalinga Adigal   b. E.V.R. Periyar 
c. Rettaimalai Srinivasan  d. M.C. Rajah  
1939 ntspaplg;gl;l [Pt rhpj RUf;fk; vd;gJ ahUila RarhpjkhFk;? 
a. ,uhkypq;f mbfs;   b. <.Nt.uh. nghpahu; 
c. ,ul;ilkiy rPdpthrd;  d. vk;.rp. ,uh[d; 

 
187. Find out the incorrect pair 

a. ICF – Perambur - 1955 
b. BHEL – Trichy - 1956 
c. OFT – Trichy - 1963 
d. Heavy Vehicle Factory – AVADI - 1961 
jtwhd ,izia fhz;f 
a. ICF – nguk;g+h; - 1955 
b. BHEL – jpUr;rp – 1956 
c. OFT – jpUr;rp – 1963 
d. fduf thfdq;fs; njhopw;rhiy – Mtb – 1961 

 
188. Find out the incorrect pair 

a. Tamil Virtual University   - 1999 
b. Connemara Library  - 1896 
c. Saraswathy Mahal  - 1917 
d. Anna Centenary Library  - 2010 
jtwhd ,iziaf; fhz;f 
a. jkpo; ,izag; gy;fiyf;fofk; - 1999 
b. fd;dpkuh E}yfk;   - 1896 
c. ru];tjp kfhy;   - 1917 
d. mz;zh E}w;whz;L E}yfk; - 2010 
 

189. Oldest known human made nano structures discovered at 
a. Keezhadi  b. Padavedu  c. Pattaraiperumbudur d. Srirangam 
kdpjdhy; cUthf;fg;gl;l gz;ila fhyj;jpd; ehNdh njhopy;El;gk; fz;lwpag;gl;l ,lk; 
a. fPob   b. glNtL  c. gl;liungUk;GJ}h;  d. jpUtuq;fk; 

 
190. Match the following 

A. Lt. Governor of Jammu & Kashmir 1. Ashokkumar Gupta 
B. Lt. Governor of Ladakh   2. Y.K. Sinha 
C. Chairman of C.C.I    3. R.K. Mathur 
D. Chairman of C.I.C    4. Manoj Sinha 
 
 
 
 A B C D 



 

39 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

a. 4 3 1 2 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 1 4 
nghUj;Jf 
A. Jiz MSeh;> [k;K fh~;kPh;  1. mNrhf;Fkhh; Fg;jh 
B. Jiz MSeh;> ylhf;   2. Y.K. rpd;`h 
C. C.C.I apd; jiyth;    3. R.K. khj;J}h; 
D. C.I.C. apd; jiyth;   4. kNdh[; rpd;`h 
 A B C D 
a. 4 3 1 2 
b. 4 2 1 3 
c. 1 2 3 4 
d. 3 2 1 4 

 
191. Which of the following National Parks is home to the famous musk deer or hangal?  

a. Bandhavgarh National Park, Madhya Pradesh  
b. Eaglenest Wildlife Sanctuary, Arunachal Pradesh Competitive 
c. Dachigam National Park, Jammu & Kashmir   
d. Keibul Lamjao National Park, Manipur 
Gfo;ngw;w f];J}hpkhd; my;yJ `q;fy; khd;fspd; ,Ug;gplkhf tpsq;Fk; Njrpag;G+q;fh vJ? 
a.  ge;jt;fhh; Njrpag; G+q;fh> kj;jpag;gpuNjrk;. 
b. fOFf;$L tdtpyq;Fg; Gfyplk;> mUzhr;ry gpuNjrk; 
c. lr;rpfk; Njrpag; G+q;fh> [k;K & fh~;kPh; 
d. nja;Gy; Nyk;[ht; Njrpag; G+q;fh> kzpg;G+h;. 

 
192. Kyoto Protocol was endorsed  

a. CoP-3    b. CoP-5   c. CoP-6   d. CoP-4 
fpNahl;Nlh newpKiwfs; ,q;F xg;Gjyspf;fg;gl;lJ. 
a. CoP-3    b. CoP-5   c. CoP-6   d. CoP-4 

 
193. The highest DDT concentration in aquatic food chain shall occur in   
 a. Seagull    b. Crab  c. Cell   d. Phytoplankton 

ePh; czTr; rq;fpypapy;> DDT mjpfgl;r nrwpT ,jpy; fhzg;gLk;? 
a. flw;gwit  b. ez;L c. nry;  d. jhtu kpjit caphpfs; 

 
194. Vijay Diwas is commemorated every ___________ to observe India victory over Pakistan in war of 

1971. 
a. 16th December  b. 17th December 
c. 13th December  d. 12th December 
1971Mk; Mz;L ,e;jpah ghfp];jhid Nghhpy; ntw;wpnfhz;ljd; epidthf tp[a; jpt]; Mz;LNjhWk; 
__________ md;W nfhz;lhlg;gLfpwJ 
a. 16> brk;gh;   b. 17> brk;gh; 
c. 13> brk;gh;   d. 12 brk;gh; 
 

195. Which country is going to host FIFA World cup in 2022? 
a. Qatar  b. South Korea  c. Japan  d. China 
2022Mk; Mz;L fhy;ge;J cyfNfhg;igia elj;jTs;s ehL vJ? 
a. fj;jhh;  b. njd;nfhhpah c. [g;ghd;  d. rPdh 
 

196. Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2.  
 a. 1636  b. 4608  c. 2912   d. 3072 
 xU ngUf;Fj; njhlh; thpirapd; 8 tJ cWg;G 768 kw;Wk; mjd; ngUf;F  tpfpjk; 2 vdpy; 10 

tJ cWg;G vd;d?  
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 a. 1636   b. 4608  c. 2912   d. 3072 
    

197. In simple interest a sum of money amounts to Rs 6200 in 2 years and Rs. 6800 in 3 years. find the rate 
of interest.  
a. 15%   b. 9%   c. 12%  d. 18%  
jdptl;b Kiwapy; xU mryhdJ ,U tUlj;jpy; & 6200 MfTk;> 3 tUlj;jpy; 6800 MfTk; khWfpwJ 
vdpy; tl;b tPjk; vt;tsT?  
a. 15%   b. 9%   c. 12%  d. 18%  

 
198. If OF = 3, and IS = 10 then ME = ?  

a. 9   b. 11   c. 8   d. 12  
OF = 3 vdTk;> IS = 10 vdTk; vOjg;gl;lhy; ME = ?  
a. 9   b. 11   c. 8   d. 12  

 
199.  The height of the Pararllelogram whose area 96 sq.m and side 24 m is.  

a. 8 m   b. 10 m  c. 2 m  d. 4 m  
xU ,izfuj;jpd; gug;G 96 r.nr.kP vdpy; mjd; gf;f msT 24 kP vdpy; mjd; cauk;?  
a. 8 kP  b. 10 kP  c. 2 kP  d. 4 kP  
 

 
200. A circle is formed with 8 equall sector granite stones. From of a sector of radius 56 cm and whose 

central angle is 45°. find the area of each of the granite stones.  
a. 1120 cm2  b. 1110 cm2  c. 1232 cm2  d. 1331 cm2 

rkkhd tl;l Nfhz gFjp cila 8 fpuhidl; fw;fs; xd;wpizj;J xU tl;lkhf khw;wg;gLfpwJ. 
xt;nthU tl;l Nfhz gFjp fy;ypd; Muk; 56 nr.kP mjd; ikaf;Nfhzk; 45° vdpy; xt;nthU fpuhidl; 
fy;ypd;; gug;G vd;d?  
a. 1120 nr.kP2  b. 1110 nr.kP2  c. 1232 nr.kP2  d. 1331 nr.kP2  

 


